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QBID:150001

Which of the following is not Ajanta Chaityagriha?

. Cave No. 09
. Cave No. 10
. Cave No. 19
. Cave No. 16
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=14601]
2[Option ID=14602]
3[Option ID=14603]
4[Option ID=14604]

Sl. No.2
QBID:150002

Which of the following books, relating to the Revolt of 1857 was written by R. C. Mazoomdar?

. Eighteen Fifty Seven

. The sepoy mutiny and the Revolt of 1857
. Civil Rebellion in the Indian Mutinies

. Awoadh in Revolt

(11

(2) 2

3) 3

(4) 4
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1[Option ID=14605]
2[Option ID=14606]
3[Option ID=14607]
4[Option ID=14608]
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Famous thinker of Kashmir Shaiva Darshan is :

. Dharmottar

. Bhavnath Mishra

. Sureshwaracharya
. Abhinavgupta
(11

(2) 2

3) 3

(4) 4
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1[Option ID=14609]
2[Option ID=14610]
3[Option ID=14611]
4[Option ID=14612]

Sl. No.4
QBID:150004

Which of the following is associated with the writing of history?

. Ilme-nuzum
. Ilme-tib

. Ilme-tarikh
. Ilme-Insha

(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=14613]
2[Option ID=14614]
3[Option ID=14615]
4[Option ID=14616]

Sl. No.5
QBID:150005

In which of the following texts do we find mention of commercial activities and trade centres of the
Rashtrakutas?

1. Kalingattuparani
2. Kuvalayamalkah
3. Rashtrakutcharit
4. Manyakhetcharit

1 1




) 2
3) 3
(4) 4
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1[Option ID=14617]
2[Option ID=14618]
3[Option ID=14619]
4[Option ID=14620]

Sl. No.6
QBID:150006

Tamil grammar text (Vyakaran granth) "Virsolium" written in the Chola period was authored by :

1. Rajraj first
2. Rajendra first
3. Jayakonder
4. Buddhamitra
(11
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2
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(4) 4

1[Option ID=14621]
2[Option ID=14622]
3[Option ID=14623]
4[Option ID=14624]

Sl. No.7
QBID:150007

Which of the following text has not been authored by Acharya Nagarjuna?

. Prajnaparamitashastra
. Kavyadarsh

. Madhyamikashastra

. Suhrillekh

(11
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@3) 3

(4) 4
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1) 1
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(3) 3
(4) 4
1[Option ID=14625]
2[Option ID=14626]

3[Option ID=14627]
4[Option ID=14628]

Sl. No.8
QBID:150008

Which of the following temples is called "Gem of Kalinga architecture"?

1. Mukteshwar temple

2. Parashurameshwar temple
3. Jagannath temple

4. Vaital deul

(11

(2) 2

3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
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1[Option ID=14629]
2[Option ID=14630]
3[Option ID=14631]
4[Option ID=14632]

Sl. No.9
QBID:150009

Which of the following scholar was the first to translate the Srimad Bhagvad Gita into English?

. Charles Wilkins
. Charles Ellan

. James Princep

. Maxmuller

(1) 1

(2) 2

(3) 3

4) 4
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(2) 2
3) 3
(4) 4
1[Option ID=14633]
2[Option ID=14634]

3[Option ID=14635]
4[Option ID=14636]

Sl. No.10
QBID:150010

King Kharvel belonged to Which dynasty ?

. Nanda
. Malla
. Shaka
. Chedi
1) 1
(2) 2
3) 3
4) 4
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3) 3
(4) 4
1[Option ID=14637]
2[Option ID=14638]

3[Option ID=14639]
4[Option ID=14640]

Sl. No.11
QBID:150011

Which Indian name was conferred upon Huen Tsang in Nalanda?

. Ramdev

. Krishnadev
. Mokshadev
. Buddhadev
(1) 1

) 2

(3) 3

4) 4
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1[Option ID=14641]
2[Option ID=14642]
3[Option ID=14643]
4[Option ID=14644]

Sl. No.12
QBID:150012




Total number of Bagh caves is :

.09
.10
.08
11
(1) 1
(2) 2
3) 3
4) 4
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3) 3
4) 4
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1[Option ID=14645]
2[Option ID=14646]
3[Option ID=14647]
4[Option ID=14648]

Sl. No.13
QBID:150013

Which of the following temple is in Dravida Style?

. Sun Temple, Konark

. Brihadeshwar Temple. Tanjaur

. Kandariya Mahadeo Temple, Khajuraho
. Aadinath Temple, Chittorgarh

(11

) 2

(3) 3

(4) 4
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(1) 1
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(4) 4
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1[Option ID=14649]
2[Option ID=14650]
3[Option ID=14651]
4[Option ID=14652]

Sl. No.14
QBID:150014

The author of Prakrit epic "Gaudwaho" is :

. Gajpatidhar
. Vashkalmati
. Vakpatiraj

. Jayadev
(11

) 2

(3) 3
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1[Option ID=14653]
2[Option ID=14654]
3[Option ID=14655]
4[Option ID=14656]

Sl. No.15
QBID:150015

Which of the following facts are not true in respect of Bal Gangadhar Tilak and Valentine Chirol?

. In his book Valentine Chirol termed B. G. Tilak as the father of Turmoil in India.

. Chirol was a British journalist.

. Tilak was more aggrieved with the fact that Chirol had criticized India's freedom movement

. Tilak launched a movement across the country beginning from Maharashtra in opposition to this book.
(11

) 2

(3) 3

(4) 4
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1[Option ID=14657]
2[Option ID=14658]
3[Option ID=14659]
4[Option ID=14660]

Sl. No.16
QBID:150016

Which of the following terms mentioned in Arthashastra is associated with salt?

. Lakshanadhyaksha
. Lavanadhyaksha

. Kupyadhyaksha

. Khanyadhyaksha
(1) 1

) 2

3) 3

(4) 4
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=14661]
2[Option ID=14662]

3[Option ID=14663]
4[Option ID=14664]

Sl. No.17
QBID:150017

"Sirre-Akbar" is the translated version of :

. Srimad Bhgvad Gita
. Upanishad

. Samveda

. Mahabharata

(11

) 2

3) 3

(4) 4
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1[Option ID=14665]
2[Option ID=14666]
3[Option ID=14667]
4[Option ID=14668]

Sl. No.18
QBID:150018

Qutban and Manjhan were :

. Minister
. King
. Astronomer

. Poet
(1 1
(2) 2
3) 3
(4) 4
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(3) 3
(4) 4
1[Option ID=14669]
2[Option ID=14670]

3[Option ID=14671]
4[Option ID=14672]
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QBID:150019




The description of historical monuments of which city finds mention in "Aasarussanadid"?

. Delhi

. Arga

. Bhopal

. Hyderabad
(11

(2) 2

3) 3

(4) 4
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(2) 2
(3) 3
(4) 4
1[Option ID=14673]
2[Option ID=14674]

3[Option ID=14675]
4[Option ID=14676]

Sl. No.20
QBID:150020

‘Who among the following is not a "Meditating Buddha"?

. Akshobhya
. Lochana

. Rupa

. Amitabh
(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=14677]
2[Option ID=14678]
3[Option ID=14679]
4[Option ID=14680]

Sl. No.21
QBID:150021

On the coins of which of the following Gupta ruler do we find mention of "Prakashaditya"?

. Shrigupta

. Ghatotkutch

. Chandragupta-II
. Purugupta

(1) 1

(2) 2
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3) 3
(4) 4
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1[Option ID=14681]
2[Option ID=14682]
3[Option ID=14683]
4[Option ID=14684]

Sl. No.22
QBID:150022

Which Gupta king attained the title of "Shakari" after abolition of Shakas?

. Samudragupta

. Chandragupta-II
. Chandragupta-I
. Skandagupta

1) 1

) 2

(3) 3

(4) 4
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1[Option ID=14685]
2[Option ID=14686]
3[Option ID=14687]
4[Option ID=14688]

Sl. No.23
QBID:150023

Who was the leader of Khaksar movement during freedom struggle?

1. Abdul Gaffar Khan
2. Allama Mashriqi
3. Maulana Azad

. Hasrat Mohani

1) 1

2) 2

(3) 3

4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14689]
2[Option ID=14690]

3[Option ID=14691]
4[Option ID=14692]

Sl. No.24
QBID:150024

‘Who is the author of Git-Govindam :

1. Kalhan

2. Parashuram
3. Jayrath

4. Jaydev

(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=14693]
2[Option ID=14694]
3[Option ID=14695]
4[Option ID=14696]

Sl. No.25
QBID:150025

‘Who among the following is the author of Vedang jyotish?

. Madhava

. Gargyayana
Lagadha

. Suyodhana
(1) 1

) 2

3) 3

(4) 4
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(2) 2
3) 3
(4) 4
1[Option ID=14697]
2[Option ID=14698]

3[Option ID=14699]
4[Option ID=14700]

Sl. No.26
QBID:150026

The Acharya of Ramanuja Vedanta is :

1. Vedantdeshik
2. Siddhasena
3. Gangesh Upadhyaya
4. Yashovijaya
1) 1
2) 2
3) 3
(4) 4
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(1) 1

(2) 2

3) 3

4) 4
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1[Option ID=14701]
2[Option ID=14702]
3[Option ID=14703]
4[Option ID=14704]

Sl. No.27
QBID:150027

The author of Maltimadhav is :

. Bhavbhuti

. Shounaka

. Shaktibhadra
. Ramchandra
(1) 1

) 2

3) 3

(4) 4
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1[Option ID=14705]
2[Option ID=14706]
3[Option ID=14707]
4[Option ID=14708]

Sl. No.28
QBID:150028




"Raspanchadhyayi” is avaiable in :

1. Bhagvatpurana

2. Ashtadhyayi

3. Vishnudharmottarpurana
. Vamanpurana

(11

(2) 2

(3) 3

(4) 4
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1[Option ID=14709]
2[Option ID=14710]
3[Option ID=14711]
4[Option ID=14712]

Sl. No.29
QBID:150029

For whom the name "Deepshikha" is used ?

. Bhavbhuti
. Bharavi

. Kalidasa

. Magha
1) 1

) 2

3) 3

4) 4
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1[Option ID=14713]
2[Option ID=14714]
3[Option ID=14715]
4[Option ID=14716]

Sl. No.30
QBID:150030

The episode of "Kumar-van" is found in :

. Ritusamhar

. Uttara Ramacharita
. Vikramorvashiya

. Dashakumaracharita
(1) 1

(2) 2
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(2) 2
3) 3
4) 4
1[Option ID=14717]
2[Option ID=14718]

3[Option ID=14719]
4[Option ID=14720]

Sl. No.31
QBID:150031

The path shown by Vallabhacharya is called :

. Muktimarga

. Vairagyamarga
. Tushtimarga

. Pushtimarga
1) 1

) 2

(3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
4) 4
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1[Option ID=14721]
2[Option ID=14722]
3[Option ID=14723]
4[Option ID=14724]

Sl. No.32
QBID:150032

Who propounded the Pashupatadarshana?

. Nakulisha

. Vasumitra

. Narada

. Somananda
1) 1

(2) 2

3) 3

4) 4
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1[Option ID=14725]
2[Option ID=14726]
3[Option ID=14727]
4[Option ID=14728]

Sl. No.33
QBID:150033

How many chapters are there in Natyashastra?

. Twenty

. Twenty four
. Thirty

. Thirty six
(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=14729]
2[Option ID=14730]
3[Option ID=14731]
4[Option ID=14732]

Sl. No.34
QBID:150034

Which term is used by famous historian Alauddin Ata Malik Jubaini for the Buddhists ?

. Toyin

. Tao-Jen
. Tanven
. Tavmin
(1) 1

(2) 2

3) 3

(4) 4
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(2) 2
3) 3
(4) 4
1[Option ID=14733]
2[Option ID=14734]

3[Option ID=14735]
4[Option ID=14736]

Sl. No.35
QBID:150035

Who is the author of "Fatawaye-Jahandari"?

. Mulla Badauni

. Abdul Hamid Lahori
. Minhaz Siraj

. Ziauddin Barni

1) 1

(2) 2

3) 3

4) 4
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1[Option ID=14737]
2[Option ID=14738]
3[Option ID=14739]
4[Option ID=14740]

sl. No.36
QBID:150036

Which of the following famous university has been there in Maitrak period?

. Vikramshila
. Nalanda

. Taxila
Vallabhi

W I =
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1) 1
(2) 2
(3) 3
(4) 4
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(2) 2
(3) 3
(4) 4
1[Option ID=14741]
2[Option ID=14742]

3[Option ID=14743]
4[Option ID=14744]

Sl. No.37
QBID:150037




Which of the following Harappan site has been excavated by S. R. Rao?

. Banwali

. Lothal

. Ropar

. Dholavira
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=14745]
2[Option ID=14746]
3[Option ID=14747]
4[Option ID=14748]

Sl. No.38
QBID:150038

In which city Singh Sabha was launched?

. Lahore

. Rawalpindi
. Delhi

. Amritsar
(1) 1

) 2

(3) 3

4) 4
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(2) 2
(3) 3
4) 4
1[Option ID=14749]
2[Option ID=14750]

3[Option ID=14751]
4[Option ID=14752]

sl. No.39
QBID:150039

Which of the following was the first book written on the history of Sultanat age?

. Chach-nama

. Kash-ful-Mehfooz
. Tabaqate-Nasiri

. Tajul-Maasir

(1) 1

(2) 2
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3) 3
(4) 4

Hedd Dld D 3IdeN IR I Ugdl J&id -8l g 2

1. 99
2. HPA-AGRS
3. JEDId -

4. AN - AR

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14753]
2[Option ID=14754]
3[Option ID=14755]
4[Option ID=14756]

Sl. No.40
QBID:150040

What is the subject of the book titled, "Aadabul-harb-Vashuja-at"?

. Medicine
. Poetry

. Music

. War-fare
(1) 1

(2) 2

3) 3

4) 4
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(4) 4
1[Option ID=14757]
2[Option ID=14758]

3[Option ID=14759]
4[Option ID=14760]

Sl. No.41
QBID:150041

Choose correct information about an important institution of the supporters of Sanatan Dharma—"Bharat
Dharma Mahamandal" :

A. It was established in the year 1887

B. Pt. Deendayalu Sharma was the chief pioneering member of its establishment.

C. Pt. Madan Mohan Malviya made significant contribution in its establishment and also served as a great
preacher.

D. Bharat Dharma Mahamandal and Arya Samaj looked upon Hindu scriptures and Mythologies with great
respect.

Choose the most appropriate answer from the options given below :

. A and B Only
.Aand C Only
. B, Cand D Only
. A, Band C Only
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(1) 1
(2) 2
(3) 3
4) 4
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(3) 3
4) 4

1[Option ID=14761]
2[Option ID=14762]
3[Option ID=14763]
4[Option ID=14764]

Sl. No.42
QBID:150042

Choose the correct statements related to General Committee of Public Instruction which come into existence in
the 19th century :

A. Tt came into existence as the provisions of the Charter Act 1813.

B. H. H. Wilson was secretary to this committee.

C. This committee made recommendations for incurring the expenditure of Rs. One crore on education every
year.

D. This committee proposed complete privatization of University education.

Choose the correct answer from the options given below :

1. A and C Only
2. B and C Only
3. Aand D Only
4. A and B Only

(11

) 2

3) 3

(4) 4




JAlgdl Adled] H & SRd BT 3t ufsish s=cad 4 Hdidd gg! dui bl 9 |

A. 3] [FHI0T 1813 & AICR SHTYTH & YIGETHI o fcRia g o |
B. 39 9iHfd & Gitd v4.u49. f[aaqa- 4 |

C. 39 AT 18 W ufd 9y T BR1S Ul @ B SR DI |
D. 39 9fAfa 7 fay fqereri Rran & yol Fsiieo ol 9 3 |

-4 AT 7Y fasedl & 9 W5l SR &1 991 DI

1. HAdd AR C
2.%9d B3R C

1[Option ID=14765]
2[Option ID=14766]
3[Option ID=14767]
4[Option ID=14768]

Sl. No.43
QBID:150043

Which of the following statements are correct in respect of Chistiya Sufi cult?

A. This tradition first evolved at Ajmer,

B. In India it was founded by Khwaja Moinuddin Chisti.

C. Baba Farid was a Sufi saint of this very cult.

D. Mughal Prince Dara Shukoh was the follower of the same series.
E. The followers of this cult did not exist outside India.

Choose the correct answer from the options given below ;

. A and B Only
.B and C Only
. Aand D Only
.D and E Only
(11
) 2
3) 3
(4) 4

ferf<ean gw! o & favg # Fafdafed H 9 s w sy 9a ¢ |

A 5 GRART BT 5H SSTHI H gaT |

B. HRd H 38 HrITUD ¥edTSl Hg g f=edl 4 |

C. 911 Biie 34 Raflid & gmi 4 |

D. HId IS AR SRT YbIg 381 Rafird &1 3urdd o |
E. YRd & SIgX 39% HH4 ald Hel 6 |

< fau T fasbedl # 9 Ul IR D1 99 DIV

1. 5dd A 3R B
2. HIAB IR C
3. A A 3RD
4. $HAd D 3R E
1 1
2) 2

W B =

.




3) 3
(4) 4

1[Option ID=14769]
2[Option ID=14770]
3[Option ID=14771]
4[Option ID=14772]

Sl. No.44
QBID:150044

Select the correct option in terms of Ankorwat temple, Cambodia :

A. This temple is dedicated to Lord Buddha
B. This temple is dedicated to Lord Vishnu

C. This temple is dedicated to Lord Shiva
D. It was declared world heritage site by the UNESCO in the year 1992
E. It was declared world heritage site by the UNESCO in the year 1994

Choose the correct answer from the options given below :

1. A and D Only
2. B and E Only
3. Aand E Only
4. B and D Only
1) 1
(2) 2
3) 3
(4) 4

3 Rare Hier, wifear & e & wel fadwe gfw:

A HER HTaH g5 DI AMUA § |
B. Hiex Hi1aT faw) 1 JHdd ¢ |
C. iR T R &1 GAfUA g |
D. d4 1992 H UNESCO % eRIgR ®ict HIfid gai |
E. 99 1994 H UNESCO fa¥ ¢RI ®c Ulfiyd gafT |

i ST TU fap el & I 98l 3R &1 99 Bifoe:

1. $ad A 3R D
2. $IAB 3R E
3. FAAdANRE
4. Hdd B 3R D

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=14773]
2[Option ID=14774]
3[Option ID=14775]
4[Option ID=14776]

Sl. No.45
QBID:150045




Select the correct statements about Khuldabad :

A. In the Tughlak period a great number of Delhi based Sufis migrated there.
B. It is historical city of Telangana.

C. Shrine of great Sufi saint Burhauddin Garib is located here.

D. Mughals had no association with this town.

Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. C and D Only
4. A and C Only

(11

) 2

3) 3

(4) 4

Healele & 9R Id HYUT I -

A. T8 QA o1d | el & gitnal o1 9t drere =9elt 713 |
B. g Aot &1 Ufdeliie TR ¢ |

C. HEH Ybl §ei-e 1 IRId DI HVR F81 © |

D. HTdl &1 39 R Y Dl Giee 75! el |

i AT g o el & 9 gl SR o1 99 DI

1. Hadd A 3R B
2. HAAB 3R C
3. %ad C 3R D
4. HAd A 3R C

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=14777]
2[Option ID=14778]
3[Option ID=14779]
4[Option ID=14780]

Sl. No.46
QBID:150046

Which of the following sites are included in the list of World Heritage sites of the UNESCO?

A. Lothal

B. Rani-ki-wav, Patan
C. Sarnath

D. Maheshwar

E. Dhaulavira

Choose the correct answer from the options given below :

. B and D Only
. B and E Only
. Aand E Only
. C and D Only
(11
) 2
3) 3
(4) 4

W I =

I




[T # 19 9 R UNESCO &l eRIgR A g H g 2

A dIYd
B. Y1 &l d1d. gre
C. gRAY

D. He*R
E. YT@maRT

i fGT U fdp el © 9 9gl 3R &1 99 Hifoe:

1.$4dd B 3R D
2. FIAB IR E
3. HAAANRE
4.%dd C 3R D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14781]
2[Option ID=14782]

3[Option ID=14783]
4[Option ID=14784]

Sl. No.47
QBID:150047

Which of the following statements are true in respect of Parmar Dynasty?

A. Ujjain assumed importance under Parmar dynasty

B. Parmar established themselves in place of Pratihar dynasty of Ujjain

C. The regime of Harsha, the first popular rural of Parmar dynasty was in 845-872 A.D.
D. After Harsha his powerful scion Munja ascended to the throne in the year 872 A.D.

Choose the correct answer from the options given below :

.Aand C Only
. C and D Only
A and B Oaly
A and D Only

P o D =

1)1
(2) 2
(3) 3
(4) 4

AR AU G A A gy dA AT HUATI§ 2

A. TARI & 9T I BT HEd 947 |

B. 3=l & YT 991 &l TR $R IUD! ol URARI A W94 &1 1 o |
C. TRAR 39 & UUH Uit s 0@ g &1 UR-HId 845-872 3.9, ¢ |

D. Hig® gy & Uyl IYhI fRIdaimel g7 4ol 872 3.9, § el IR 447 |

-4 AT e fadh el & 9 W51 SR D1 991 DI

1. Had A 3R C
2.%Had C 3R D
3. Hdd A IR B
4. Fdd A 3R D

1 1
) 2
(3) 3




(4) 4

1[Option ID=14785]
2[Option ID=14786]
3[Option ID=14787]
4[Option ID=14788]

Sl. No.48
QBID:150048

Which of the following statements are true in respect of Greek Rulers?

A. Among Yawan rulers having their firm foothold in Indian Administration with their strong influence,
Menander deserves special mention.

B. The contribution of Yawans in the field of Indian Astrology in negligible.

C. Menander adopted Buddhism under the influence of Buddhist monk Nagsen.

D. We come to see religious harmony of Monk Nagsen and Menander in the text—"Nagsen Prashna".

Choose the correct answer from the options given below :

. Aand C Only
Aand D Only
B and C Only
C and D Only

W I =

=

(1) 1
(2) 2
(3) 3
4) 4

D CIRI R AR e A = A Tt R R A T el s eRIE Roa e il

A. HRA H 309 A 3R YHTd Pl Sls STHTH dld ga- Ai| § A1ieY Ic@-d g |
B. 4RI SAifdfdg & &3 # ga-i &1 diTeH g ¢ |

C. dig fHe AT & UHIG H 3IPR HARSR A sl YH aR0T 6 feran o |

D. [¥1& TRTE 3R HATSR & 1 Hegld BT U= TR U4 A 9 H Haarg |

i fau Y fadb el & 9 g1 SR 61 99 DI

1. Had A 3R C
2. FAA A 3MRD
3. FAABIIRC
4.%dd C 3R D

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=14789]
2[Option ID=14790]
3[Option ID=14791]
4[Option ID=14792]

Sl. No.49
QBID:150049




Which of the following inputs are true with respoect to Shyama Prasad Mukherjee?

A. He assumed the office of Vice-Chancellor of Calcutta University, when he was just 33 years of age.

B. Right since the early stage of his political career he was opposed to the Congress and supported Hindu
Mahasabha

C. He was given the portfolio of Ministry of Industry and Supply in the Union Council of Ministers in
Independent India.

D. He supported the agreement between Nehru and Liyakat Ali.

Choose the correct answer from the options given below :

. A and B Only

. B and D Only
.Aand C Only

. A, Cand D Only
(1) 1

(2) 2

3) 3

(4) 4

IS JEol & aR 3 Ffeied gEat e €

A. 35 Ryt 33 a9 &1 g H SHefpl [d4{deiery & Hadid BT UeHR FHIT |

B. 4 AUH ISifAfde S H e 9 g1 DUy o faR1ell 3R fg-g #eraH & gl g |
C. 3TSTIE HRA H IP] b-1g AEHSH H I 3R {9fc] HATCH @1 HR a1 77T |
D. 35 Ag® - feraredd afcll Grgid o1 g fhar |

9 fau e fa el # 9 gl IR &1 99+ S

1. $dd A RB
2. HIAB 3R D
3. Had A AR C
4. BAAA,. C3IRD

11

(2) 2

3) 3

(4) 4

S O N T

1[Option ID=14793]
2[Option ID=14794]
3[Option ID=14795]
4[Option ID=14796]

sl. No.50
QBID:150050

Choose the correct statements relating to Swami Narayan Guru :

A. He established Shri Narayan Dharma Pariapalan Yogam

B. He was deeply influenced with Buddhism

C. He endeavored to reform the social status of Ezhawa community
D. He talked of the bycott of Hindu religious sites.

Choose the correct answer from the options given below :

1. A and C Only
2. A, B and C Only
3. A and B Only
4. A, Cand D Only
1) 1
(2) 2
(3) 3
(4) 4




W AR TR I Heiid Fafeiead sy 98l |

A. I 9 ARRIOT e GRETET ITH Pi RITGAT B |

B. 98 dlg 4H I &b HIB] YHIfdd ¥ |

C. I SHGT GHERT I ATHIOTD [RUTT 1 GUR B BRI Bl |
D. 3% fg Uil Ridli & sig™pR &1 a1d Bl |

-4 AT 7Y fasedl & 9 W5l SR &1 991 DI

1. Had A 3R C
2. HAAA, B3R C
3. Hdd A IR B
4. FIAA, C3RD

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=14797]
2[Option ID=14798]
3[Option ID=14799]
4[Option ID=14800]

Sl. No.51
QBID:150051

Which of the following statements are true in respect of Gang dynasty?

A. Gang dynasty ruled over Kalinga from 3rd to 8th A.D.

B. Among the rulers of Gang dynasty Narsinha Deo-I holds the distinction of being the first head

C. Konark based Sun Temple was built by the Gang ruler Narshinha-I.

D. The rulers of Gang dynasty kept themselves aloof from the publicity of Indian religion and literature across
islands.

Choose the correct answer from the options given below :

. A and B Only
.Band C Only
. C and D Only
. A and B Only
(1) 1
(2) 2
3) 3
(4) 4

rdg & favg d Fgiigd f e ST Sy 9d § 2

A. PHICHT GR T 921 BT A ARl Tal 3.9, 3AT3d] 9el 5.9 dP I8 |

B. 717 92019 Arden] # g Sa nuH yHE © |

C. I o Y ISR T [H{UT T 2y ARRIE Y - fobar |

D. TTCRIR Q]+ S0 DI HRART &4 9 Gifged 1 gul=<iRl deb TER-UER F 30 1 g2 4T 1.

i fGT U fdhedi § I Ul 3R &1 994 PHifoie:

1. $dd A 3R B
2. FAAB IR C
3. Had C 3R D
4. HIAA3RB

(1) 1
(2) 2
(3) 3

W I =

.




(4) 4

1[Option ID=14801]
2[Option ID=14802]
3[Option ID=14803]
4[Option ID=14804]

Sl. No.52
QBID:150052

The Acharyas belonging to "Madhva Vedanta" cult are :

A. Vardhamanopadhyaya
B. Vyastirtha

C. Jayatirtha

D. Keshava Mishra

Choose the most appropriate answer from the options given below :

1. A and B Only
2. B and C Only
3. C and D Only
4. A and C Only

1) 1

(2) 2

3) 3

(4) 4

H1ed del~ THIe & MERi § -

A. FAFETTE™
B. ST

C. oary

D. Heafy

HYfId fdp e 9T -

1. $dd A 3R B
2. FAAB IR C
3. %Had C 3R D
4. Had A 3R C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14805]
2[Option ID=14806]

3[Option ID=14807]
4[Option ID=14808]

sl. No.53
QBID:150053




Choose the correct statements with respect to "Panchatantra"?

A. It was translated by an Iranian scholar Burjuyae in the sixth century
B. It's Arabic translation is "Kalila and Dimana"

C. Ibne-Mukaffa translated it into Persian

D. It was not translated in India

E. Arabian country is unaware of it

Choose the correct answer from the options given below :

. A and B Only
.B and C Only
. C and D Only
. D and E Only
(11
(2) 2
(3) 3
(4) 4

U & [ H 9 HU I -

A. B0l UdTsdl H SHDT 341G Teb X1 fdgr §oid = foar |
B. $Hb 3Rl 3fdIg DI A "Heilell d [GHAT" § |

C. 39-HHWPT 1 3BT 3dre BRI H b |

D. HRd # ST 3dIE gl g |

E. 3R9 oR 39§ MR |

T faped 9T -

1. $ad A 3R B
2. FAAB 3R C
3. %Had C 3R D
4. A D 3R E

1) 1
(2) 2
(3) 3
(4) 4

LV o B

B

1[Option ID=14809]
2[Option ID=14810]
3[Option ID=14811]
4[Option ID=14812]

Sl. No.54
QBID:150054

We find just one work (writing) of :

A. Bhavbhuti
B. Ashvaghosh
C. Bharavi

D. Magh

Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. C and D Only
4. A and D Only

(11

() 2

®3) 3

(4) 4




fPa®! A Th AT U gidl 82

A. HaH[d Bl
B. YUY B
C. YRfd BT
D. {1 .

s fiwea 9T

1. Hdd A 3R B
2. FAAB AR C
3. Had C 3R D
4. F9d A 3R D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14813]
2[Option ID=14814]

3[Option ID=14815]
4[Option ID=14816]

Sl. No.55
QBID:150055

The Acharya of Vijnanvada is :

A. Udayan

B. Dinnag

C. Nagarjuna
D. Dharmakirti

Choose the correct answer from the options given below :

. A and B only
. C and D only
. B and D only
. B and C only
(11
) 2
3) 3
(4) 4

fAdIe & 3= § -

a0 b =

A. 38T

B. fagmT
C. ARSI
D. YHBI

T fabed gHT:

1. AUd B hdd
2.CUd D &had
3.BUd D &Had
4.BUd C had
(1) 1
) 2




3) 3
(4) 4

1[Option ID=14817]
2[Option ID=14818]
3[Option ID=14819]
4[Option ID=14820]

Sl. No.56
QBID:150056
n

Choose out of the given options that are not types of "Taxes".
A. Bali
B. Hiranya
C. Shatman
D. Vrihi
E. Pranay

Choose the correct answer from the options given below :

. C and D Only
. B and D Only
. Aand E Only
C and E Only

LUV O I

=

1) 1
(2) 2
(3) 3
4) 4

S FRI B UPR ol 6, 3P HEARIT J I 909 HifTe:

A. dfd
B. fexug

C. AdHIA

D. difg

E. YU

Oy~

i< fau MU fab el | 9 969 I9gad 3R DI 94 DI

1. %dd CTYID
2. Hdd B AU D
3. hdd AJYUTE
4.hdd C dUTE

1) 1
(2) 2
3) 3
4) 4

1[Option ID=14821]
2[Option ID=14822]
3[Option ID=14823]
4[Option ID=14824]

Sl. No.57
QBID:150057




The disciples of Saint Ramananda are :

A. Dayananda
B. Dadu
C. Kabir

D. Madhusudan Saraswati
Choose the most appropriate answer from the options given below :

. A and B Only
. B and D only
. A and D Only
.B and C Only
(1) 1
) 2
3) 3
(4) 4

=1 A< & A 6 -

b D =

B

A A=

B. g

C. BER

D. A{a Il

THfd e e I

1. A, Bdhdd
2.B,D $ad
3.A. D $hdd
4.B, Chdd

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=14825]
2[Option ID=14826]

3[Option ID=14827]
4[Option ID=14828]

Sl. No.58
QBID:150058

In which of the following sites do we find huge ash mounds?

A. Kupgal

B. Mahishadal
C. Kayatha

D. Pikalihal

E. Gumla

Choose the most appropriate answer from the options given below :

. A and E Only
. C and D Only
.Aand C Only
. A and D Only
(1) 1
(2) 2
3) 3
(4) 4

W I =

I




T AP I Ra M@ H 9 - g8 R Had g 2

A DUTE
B. Afgyred
C. YT

D. fuddlgd
E. AT

i fau T fab el ® O 998 Iugad 3R 1 99 DI

1. hdd ATYTE
2. %hdd C dUID
3. had ATYUIC
4. hdd ATYID

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14829]
2[Option ID=14830]
3[Option ID=14831]
4[Option ID=14832]

Sl. No.59
QBID:150059

Choose the knowledge systems formulated by Kautilya :

A. Trayi Vidya
B. Viman Vidya
C. Varta Vidya
D. Khagol Vidya

Choose the correct answer from the options given below :

1. A and B Only
2. A and C Only
3. B and C Only
4. C and D Only

1) 1

(2) 2

3) 3

(4) 4

Pifced faurfed faen gfe -

INELIIGE
B. fadM faen
c. ardf faen
D. 9 .

T fAdhe g

1. A, Bdhdd
2. A, C Had
3.B, C hdd
4.C.D$dd

(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=14833]
2[Option ID=14834]
3[Option ID=14835]
4[Option ID=14836]

Sl. No.60
QBID:150060

Identify the types of Shrauta Agni :

A. Garhpatya
B. Ahavaniya
C. Parisphurti
D. Samabhihar

Choose the correct answer from the options given below :

1. A and B Only
2. A and C Only
3. B and D Only
4. C and D Only

1) 1

(2) 2

3) 3

(4) 4

i AV PTUPR § -
A Tedd

B. 3gd-iig

C. gREmfd

D. GHIER.

I fab e gfu:

1. AUd B hdd
2. AUd C Hhad
3.BUd D $dd
4.CUd D Had

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=14837]

2[Option ID=14838]

3[Option ID=14839]
4[Option ID=14840]

Sl. No.61
QBID:150061

Four types of Kalpa Sutfra include :

A. Grihya Sutra
B. Marma Sutra
C. Shulva Sutra
D. Fit Sutra

Choose the correct answer from the options given below :

A and B Only
A and C Oaly
C and D Only
B and D Only

= Lo o =




(1) 1
(2) 2
(3) 3
4) 4

HYA b IR YHRI H E -

A TR
B. HHYA

C. Yo
D. ¢ 4

s fiwed 9T

1. AUd B $had
2. AUd C Hhad
3.C $Hd D Had
4.BUd D dhad

1)1

(2) 2

3) 3

4) 4

1[Option ID=14841]

2[Option ID=14842]

3[Option ID=14843]
4[Option ID=14844]

Sl. No.62
QBID:150062

In Abhijanshakuntalam the companions of Shakuntala are :

A. Madhulekha
B. Chitralekha
C. Anusuya

D. Privamvada

Choose the correct answer from the options given below :

.Cand D Only
. Aand B Only
.Band D Only
.Band C Ouly
1) 1
(2) 2
(3) 3
(4) 4

HIHFRIG el H AH =Tl I F&I G -

A, FEeTT
B. ferretan

C. 3fgyan
D. [Ug¥aar.

T fab e gfe:

1.C 3R D ®hdd
2. A 3R B hdd
3.B 3R D &dd
4.B 3R C hdd

1 1
) 2

B R




3) 3
(4) 4

1[Option ID=14845]
2[Option ID=14846]
3[Option ID=14847]
4[Option ID=14848]

Sl. No.63
QBID:150063

Eight fold path includes :

A. Right Prehension
B. Right Living

C. Right Meditation
D. Right Birth

Choose the correct answer from the options given below :

1. Aand C Only
2. B and D Only
3. Aand B Oanly
4. C and D Only

1) 1

(2) 2

(3) 3

(4) 4

TP ART A -
A. GRS 9RUg
B. GHI® 3HSild

C. GHID GHIY
D. §RI% U4,

A fdbed g

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=14849]
2[Option ID=14850]

3[Option ID=14851]
4[Option ID=14852]

Sl. No.64
QBID:150064

In Sultanat Age "Amir" and "Nadeem" represented :

. The designations in Sultan's court

. Name of two poets of that age

. Two places located at Delhi

. Name of literary awards

. The two positions held by Amir Khusro

Mo nw =

Choose the correct answer from the options given below :

1. Aand E Only
2. B and D Only
3. Cand D Only
4. D and E Only

1) 1




2) 2
3) 3
(4) 4

Toad ®Id H 'SR 3R e a1 4T 2

A GedM & AR H uai & 7 |

B. 39 PId & & gl & - |

C. feed # Ra gl Agd |

D. HIfgcd GRIHRI & =1 |

E. 3HR GWRI A 37 <1 oI gRIfHd foar |

I Ride IR

1. AUd E $dd
2.BUd D &dd
3.CTd D $had
4.DUd E $hdd

1) 1

) 2

3) 3

4) 4

1[Option ID=14853]
2[Option ID=14854]
3[Option ID=14855]
4[Option ID=14856]

Sl. No.65
QBID:150065

What was common between Kalhan, Jonaraja and Shrivara?

A. They were musicians

B. They were kings

C. They hailed from Kashmir
D. They were historians

E. They were minister

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Oaly
3. Cand D Only
4. D and E Only

1) 1

(2) 2

(3) 3

(4) 4




Peg. SIFRTST UaH H1aRT H 1 =g o7 |

INESHIGIE R
B. G Y
C.HERT Y
D. 3fdgM®R 4
E T Y

T fabed AT

1. ATUd B &had
2.BU4 C dd
3.CUd D &Had
4.D U4 E ®dd

1) 1

) 2

3) 3

4) 4

1[Option ID=14857]

2[Option ID=14858]

3[Option ID=14859]
4[Option ID=14860]

Sl. No.66
QBID:150066

Match List I with List IT

LISTI LISTII
(Book) (Author)
A |Gita Rahasva 1. |Ashwini Kumar Dutta
B. [Bhaktivoga II. [Bal Gangadhar Tilak
C. |Bhawani Mandir III. [Bankimchandra
D. [Krishnacharita IV. |Aurobindo Ghosh

Choose the correct answer from the options given below:

1. A-II, B- 1, C-III, D-IV
2. AL B-III, C-1, D-IV
3. A-IL, B-1II, C-1V, D-I
4. A-1I, B-I, C-1V, D-1II

11
(2) 2
(3) 3
(4) 4
AT DIfTT:
List - 1 (HY) List - I1 (TRa)
A o= L |SPIR &
B. |ufdTanT 1L |95 TR faas
C. |HaHiHER L [dfeHds
D. |[gwiaiE V. |3Rfg=< gy
i< f3U 7T fab eyl § 9 Yl 3R &I 94+ Hifolu:

1. A-II, B-1, C-III, D-IV
2. A-II, B-III, C-I, D-IV
3. A-IIL B-III, C-I, D-IV
4, A-TI, B-1. C-1V, D-III

1) 1

(2) 2

(3) 3




(4) 4

1[Option ID=14861]
2[Option ID=14862]
3[Option ID=14863]
4[Option ID=14864]

Sl. No.67
QBID:150067

Match List I with List IT

LISTI LISTII
(Reformer) (Journal)
A |Rammohan Roy I.  |Hindu Jan Sanskarini
B. |Balshastri Jambekar II.  |Digdarshan
C. |Veersalingam I |Vivekvardhini
D.  |Buchaiva Pantlu IV.  |Samvad Kaumudi

Choose the correct answer from the options given below:

1. A-IV, B-IIL C-II, D-I
2. A-II, B-1, C-IV, D-III
3. A-II, B-1. C-111, D-IV
4. A-IV, B-11, C-II1, D-I

1) 1

(2) 2

(3) 3

(4) 4

Gl 1 1Y Gt 11 1 e Sifoe:

List - 1 (§UR®) List - IT (GFahT)
A REHRAIE L |Eg o eI
B [SIoERE SEd 1 |fereE
c. |[draraE . |[ggdeafeH
D |gdidl Uidg IV [YdmE Sl

i ST U fap el & I 98l 3R &1 99 Pifoiu:

1. A-TV, B-IIL, C-I1, D-I
2. A-II, B-1, C-1V, D-11I
3. A-TI, B-1, C-TII, D-IV
4. A-TV, B-1I1, C-IIT, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14865]

2[Option ID=14866]

3[Option ID=14867]
4[Option ID=14868]

Sl. No.68
QBID:150068




Match List I with List IT

LIST1I LISTII
(Temple) (Dynasty)
A |Vetal Deul Temple, Bhubaneswar L Somavanshi
B. [Lingaran Temple, Bhubaneswar II. Bhoumkar
C. [Tagannath Temple, Purni III.  Purvi Gang
D. [Kapileshwar Temple IV.  |Gajapati

Choose the correct answer from the options given below:

1. A-L, B-IL, C-IIT, D-IV
2. AN, B-I1, C-1V, D-1
3. A-IL B-L C-1II, D-IV
4. A-1I, B-1, C-IV, D-1II

1) 1
(2) 2
(3) 3
4) 4
SEIEGIERIEEA TS
T 1 @A) I @
A, [ddr g3 HIER, YR L [gmash
B[RRI HIGR, YaHWR oL |[HHER
C [ ARz ol 1 [gdf 7
D. |[BfucsR dfe IV, [merafd
i fau TTU f[adbedl § I el 3Tk &1 999 Dilolu ;

1. A-I, B-1I, C-III, D-IV
2. A-II, B-I1, C-1V, D-1
3. A-TI, B-1, C-TII, D-IV
4. A-I1, B-1, C-TIV, D-III

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14869]

2[Option ID=14870]

3[Option ID=14871]
4[Option ID=14872]

Sl. No.69
QBID:150069

Match List I with List IT

LISTI LISTII
(Ruler) (Empire)
A |Tolemy II Philadelphus I |Svria
B. |Alexander II. [Egvpt
C. |Antigonous Gonatas 1I1. [Epirus
D. |Antious II Theos IV. Macedonia

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1, D-III
2. A-II, B-1I1, C-1IV, D-1
3. A-IIL B-1V, C-I, D-II
4, A-II, B-1V, C-II1, D-1

(1) 1

2) 2

(3) 3

4) 4




T e Bifore:

T 1 (WD) TR I (1)
A [ercH G hareamy L [difan
B. [afiadiex I [
C. [oferg ey I [3ursRd
D. [dfeafichd fgdiy [Uaig IV, [Hagi=an
i feu U fasedi | 9 el 3R 1 99 DifoT ;

1. A-II, B-IV, C-I, D-III
2. A-I1, B-II1, C-1V, D-1
3. A-III, B-1V, C-1, D-II
4. A-I1, B-1V, C-II1, D-I

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=14873]

2[Option ID=14874]

3[Option ID=14875]
4[Option ID=14876]

Sl. No.70
QBID:150070

Match List I with List IT

LISTI LISTII
(Dynasty) (Founder)
A Maitraka I |Gopala
B. |Pala II. |Bhattaraka
C. Rashtrakuta I11. |Moolraja
D. [Solank1 IV. |Dantidurg

Choose the correct answer from the options given below:

1. A-II, B-L, C-1V, D-III
2. AL B-1V, C-1II, D-1
3. A-IV, B-IIL C-I, D-II
4. A-1, B-III, C-II, D-IV

(1) 1
(2) 2
3) 3
4) 4
T 1 @ T 11 (FRITT)

A [HI® I [T

B. [org I |[4eR®

C. Rwaoe I [qeRe

D. [Oid®] v, [efagl

i< f3U U fdb eyl § 9 Ygl 3R &I 90+ Hifolu ;

1. A-II, B-1, C-1V, D-1I1
2. A-II, B-1V, C-III, D-1
3. A-TV, B-IIL C-I. D-II
4. A-1. B-III, C-II. D-IV

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14877]




2[Option ID=14878]
3[Option ID=14879]
4[Option ID=14880]

Sl. No.71
QBID:150071

Match List I with List IT

LIST1I LISTII
(Book) (Author)
A |[Tirumurai I [Kamban
B. |[Ramavathrama II.  |Amritsagara
C. |[eevaka Chintamani III. [Nambivandar Nambi
D. |Yapperukalakkarngai IV,  |Thirutakkadevar

Choose the correct answer from the options given below:

1. A-L, V-1II, C-11, D-IV
2. A-III, B-1V, C-I, D-II
3. A-IL B-II, C-1, D-IV
4. A-1IL, B-1. C-IV, D-II

(1) 1
(2) 2
(3) 3
4) 4
T 1 ) T I RFR)
Al L [@EA
B. RIAGYRH L [3HdETR
¢ [Sligd fefami L [Hifgaige el
D. [MOTHaaPhiea V. [[edapcal

Hid fau U famedl | 9 Ut 3R &1 99 Hifelu -

1. A-1, B-II, C-I1I, D-IV
2. A-1II, B-1V, C-1, D-1I
3. AL B-II1, C-1, D-IV
4. A-T11, B-1, C-IV, D-TI

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=14881]

2[Option ID=14882]

3[Option ID=14883]
4[Option ID=14884]

Sl. No.72
QBID:150072

Match List I with List IT

LISTI LISTII
(Site) (River)
A |[Lothal I |Gomal River
B. |[Amn II. |Ghaggar River
C. [Kalibanga III. Bhogawa River
D. [Rehman Dheri IV, [Indus River

Choose the correct answer from the options given below:

1. A-II, B-1V, C-II1, D-1
2. A-IIL, B-1, C-1II, D-IV
3. AL B-1V, C-I1, D-1
4. A-IIT, B-II, C-IV, D-1
(1) 1
) 2




3) 3

4) 4
AT Hd BT |
T 1 (R T I (7
A [aiud I [MEa e
B. [omRY I [N ol
C. [@rcEm I M et
D. REaH &4 v [Rig g
i fau U f[adh eyl d I Il 3R &1 999 DI ;

1. A-IT, B-1IV, C-111, D-1
2. A-IIIL, B-1, C-11, D-IV
3. A-III, B-1V, C-11, D-I
4. A-IT1, B-1I, C-1V, D-I

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14885]

2[Option ID=14886]

3[Option ID=14887]
4[Option ID=14888]

Sl. No.73
QBID:150073

Match List I with List IT

LISTI LISTIT
(Thinker) (Theory)
A Dinnaga 1. |Pramanvinishchaya
B. Dharmakirt IT. Mahavansutralankar
C. |Asanga III. |Tatvasangrah
D. [Shantrakshit IV. |Pramansamuchchaya

Choose the correct answer from the options given below:

1. AL, B-1, C-IV, D-III
2. A, B-1, C-II, D-IV
3. A-IV, B-I, C-11, D-III
4. A-1, B-1I, C-IV, D-III

(1) 1
(2) 2
(3) 3
4) 4
gHferd pifoe
T 1 (=) T 11 ({9)

A [[GEAm L [HHIOIGHEET

B. |uHolid 1. |[AEFEEARIeR

C. |3EF Il [dadde

D. [RI-RI&d IV, [MATURE=Y

i feu e faeul # 9 951 SR @1 9u- SIS

1. A-II, B-1, C-IV, D-III
2. A-1II, B-1. C-1I, D-IV
3. A-IV, B-1. C-II., D-III
4. A-1, B-I1. C-1V, D-III

(1) 1

() 2

(3) 3




4) 4

1[Option ID=14889]
2[Option ID=14890]
3[Option ID=14891]
4[Option ID=14892]

Sl. No.74
QBID:150074

Match List I with List IT

LISTI LISTII
(Term) (Meaning)
A |Tabga I [History
B. |Tujuk II.  |Section
C. |Tareekh 1. |Letter
D |Magtoob IV.  |Memoir

Choose the correct answer from the options given below:

1. A-II, V-1V, C-1. D-III
2. A-IV, B-I1, C-1, D-III
3. A-II, B-1II, C-1IV, D-1
4. A-IIL, B-1V, C-1, D-II

1) 1

() 2

(3) 3

(4) 4

L CINGEDIEIY
T 1 (AT TMeg)
A [qs@n L

@ 1. [avs
T I [o

e V. [EeR

i fau U 9 edl J 9 Tl 3R &1 999 DI

1. A-II, B-1IV, C-1. D-1II
2. A-IV, B-11, C-1. D-III
3. A-II, B-III, C-IV, D-I
4. A-1I1, B-1V, C-1, D-II

(1) 1

) 2

3) 3

(4) 4

;11 (3%
EEEL

uinw

1[Option ID=14893]
2[Option ID=14894]
3[Option ID=14895]
4[Option ID=14896]

Sl. No.75
QBID:150075

Match List I with List IT

LISTI LISTII
(Sufi / Saint) (Place)
Bakhtiyvar Kaki I.  |Bihar Sharif
Sheikh Yahva Muneeri II. [Delhi
Guru Gobind Singh 11, |Fatehpur Sikri
Sheikh Salim Chisti IV. |Patna

=l io] o i

Choose the correct answer from the options given below:

1. A-III, B-I, C-1V, D-II
2. AL B-1V, C-I, D-III
3. A-IL B-I, C-IV, D-III
4. A-1, B-II, C-1II, D-1IV




1 1

2) 2
3) 3
(4) 4
AT HIfSU
G/ ) Tt 1 @UT)

A [GfETOR Bt I [oerRTEE

B. [@ gga g Tl S

C. [ Tifs= e I [dgqR i

D. [¥1@ gcid F=dl V. [ger

i fau U faedl A U Ul IR &1 99 DI :

1. A-ITI, B-1, C-IV, D-II
2. A-IIL, B-1V, C-1, D-III
3. A-IL B-I. C-1V, D-IIi
4. A-1, B-1I, C-III, D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=14897]

2[Option ID=14898]

3[Option ID=14899]
4[Option ID=14900]

Sl. No.76
QBID:150076

Arrange the following in chronological order in the context of Buddhist council.

. Vaishali
B. Kundalvan
C. Pataliputra
D. Rajgriha

Choose the correct answer from the option given below :

1.LAB.C,D
2
3

|

oPo;
WO Pt
N0
o vl

1) 1
(2) 2
(3) 3
(4) 4

dig Gl & e H BIAhHITIR HHES DX -

A fau Y faspedl # 9 HEl IR D1 99 DI

C.D

W
ooop

WO
NEao
e

g

1 1
) 2




3) 3
(4) 4

1[Option ID=14901]
2[Option ID=14902]
3[Option ID=14903]
4[Option ID=14904]

Sl. No.77
QBID:150077

Arrange the following "Five-skandh" as propounded in Buddhist Philosophy in proper sequence :

A. Sanjna
B. Sanskar
C. Vedana
D. Rupa
E. Vijnana

Choose the correct answer from the option given below :

1. D C A B E
2.D,C.B EA
3.C.AB.ED
B.DCAE

(1) 1
(2) 2
(3) 3
(4) 4

sl a2 H widuiiad g & 1 s H I Ui BTy -

NE:Eill
B. T3 R

C.deHAl
D.¥Y

E. fagm
i< fGu 1T faspedl H 9 |l ITR BT 9 DTG

1.D, CA.B.E
2.D.C,B.E, A
3.C,A.B.E.D
4.B,D,C. A E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14905]
2[Option ID=14906]
3[Option ID=14907]
4[Option ID=14908]

Sl. No.78
QBID:150078




Arrange the following in chronological order :

A. Diwan-e-Galib
B. Umrao Jaan

C. Geetanjali

D. Gubar-e-Khatir
E. Madhushala

Choose the correct answer from the option given below :

L D

Owpw
NOPU

mp 0 p
® YO
b s lies @)

o

1) 1
(2) 2
(3) 3
(4) 4

PIAHATIIR hHds B

A. fga-mfae
B. 3HRId &

c. Tfidisral

D. [aR-MIR
E. AYSITEl

I fau T fad el § ¥ wel 3R &1 99 Sife:

1.
2.
3

g-n:[>r~,:;>
g WP w
AOWY
wo o

s )
om0

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=14909]
2[Option ID=14910]

3[Option ID=14911]
4[Option ID=14912]

Sl. No.79
QBID:150079

Arrange the following institutions on the basis of their year of establishment in chronological order starting from
earlier to later :

A. Akhil Bharatiya Hindu Mahasabha
B. Congress Nationalist Party

C. Swarajya Party

D. All India Muslim League

Choose the correct answer from the option given below :

1.D.A.B.C
2.D,AC,B
3.A.C.B.D
4. A,D,B,C
(1) 1
(2) 2

3) 3




(4) 4

fafafad Sers @1 39! R 99 & IR, Ugd I YO gl dle & o H Toll |

A. ARad YR g AgrH
B. U SRR uret
C. WGy Uiet

D. 3Tel 3141 7K o
i fau Y fasbedl # 9 9l 3R D1 99 DI

(1) 1
) 2
3) 3
4) 4
1[Option ID=14913]
2[Option ID=14914]

3[Option ID=14915]
4[Option ID=14916]

Sl. No.80
QBID:150080

Arrange in the chronological order :

Vallabhacharya
B. Ramanujacharya
C. Shankaracharya
D. Bhartrihari

Choose the correct answer from the option given below :

LABGH
2D CH.A
3.C,A,D.B
B AC
(1) 1
(2) 2
(3) 3
(4) 4
DHIAHHIR FUISTd DI
A. IedHER

B. IHSIER

C. XHE

D. HJgR,

i AT e ool 7 9 51 SR D1 90 DI

1.A,B,C,D
2.D.C,B A
3.C,A.D.B
4.B.D.A.C
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=14917]
2[Option ID=14918]
3[Option ID=14919]
4[Option ID=14920]

Sl. No.81
QBID:150081

Arrange in the chronological order :

A. Ghulam Dynasty
B. Tuglaq Dynasty
C. Khilji Dynasty
D. Lodhi Dynasty
E. Syed Dynasty

Choose the correct answer from the options given below :

1
pl
3

(1) 1
(2) 2
(3) 3
4) 4

PIADHATTIR hHdS B -

A TAH Y
B. qIdi® axT
c. Raasit 9=
D. aiefi g=1

E. 89g 99

i faw e fawedl & 9 Ot IR &1 99 DI

1.A,B,C, D, E
2.A,E.D,C,B
3.E,D.C,B. A
4. A,C.B,E,D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=14921]
2[Option ID=14922]
3[Option ID=14923]
4[Option ID=14924]

Sl. No.82
QBID:150082




Arrange the following institutions in chronological order based on the year of their establishment starting from
earlier to later :

A. Asiatic Society of Bengal
B. Calcutta Madarasa

C. Fort William College

D. Central Hindu College

Choose the correct answer from the options given below :

-

b-JF\J»—n

- =

W w

;AL G
o L,
AD
,C A

ISy
E:Jr'nu'tv

1) 1
(2) 2
(3) 3
(4) 4

fgfarad g=meff & R & a9 & YR R Ugd ¥ 91 & HH H JoTd |

A. TREIfes Amdt ot ST
B. Al HEH]

C. ®I¢ [aferaH Bicsl

D. ¥¢d g Piaol,

19 fau ¢ fae el # 9 Uel IR &1 99 S

1.B,A,C,D
2 A B 1)
3.B.A,D, C
4.B,C.A.D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=14925]
2[Option ID=14926]
3[Option ID=14927]
4[Option ID=14928]

Sl. No.83
QBID:150083

Arrange the following "Yama" of Yoga philosophy in correct order :

A. Non-violence

. Not to steal

. Celibacy

. Non-possession
. Truth

Mo nw

Choose the correct answer from the options given below :

1.E,.C,D,B, A
2.A.E,B,C,D
3.3CD,B.ALE
4.B,C.D.E. A

(1) 1

(2) 2

(3) 3

(4) 4




ANTER & TH DI hH J YIS BTG -

A, offgan
B. 3T

C. s
D. JGRYUE

E. 44

HId fau U fadedl | 9 Yl IR &1 99 DHIfolu:
LEEDB.A
%4 TB D
3.C,D,B,A,E
4.B,C,D.E, A
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14929]
2[Option ID=14930]
3[Option ID=14931]
4[Option ID=14932]

Sl. No.84
QBID:150084

Arrange the twelve Nidanas in proper sequence as per Buddhist Philosophy :

A. Bhava

B. Upadan
C. Jati

D. Jaramaran
E. Trishna

Choose the correct answer from the options given below :

LR —

00PN
> Ow e
MW g W

wmN g
O 5

=

1) 1
(2) 2
(3) 3
4) 4

dl euiF | ufquifed grew fHer &1 %A 9 duiford SIfs -

A Yd
B. 3UlGH
C. Slfd

D. SRIHARUI

E. qW
i fGT U fdp el © 9 9gl 3R &1 99 Hifoe:

W
WMoy
NnNYN

> O wp
ARy "

=
o= o s M es!

1 1
) 2




3) 3
(4) 4

1[Option ID=14933]
2[Option ID=14934]
3[Option ID=14935]
4[Option ID=14936]

Sl. No.85
QBID:150085

Arrange chronologically the events of Dara Shukoh's life :

A. Meeting with Miyan Mir

B. Authored "Safinatul Aulia"
C. Authored "Majmaul-Behrain"
D. War of succession for throne

Choose the correct answer from the options given below :

1.A,B.C,D
2.A,C,D,B
3.C.B.A.D
4.C,B,D.A
1) 1
) 2
3) 3
(4) 4
AR YpIg F T 9131 Bl DITHHITIR hHas D
A. T dR 9 de|

B. "qWhI-dd-Sferr i =T |
C. "ASHIA-g " I =T |

D. ITRIMEYHR Bl o7 |,
HId feu 7T fadedl | 9 Yl IR &1 99 DHIfoie:
LABCD
2.A,C,D,B
3.6 BLAD
4.C,B,D,A
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=14937]
2[Option ID=14938]
3[Option ID=14939]
4[Option ID=14940]

Sl. No.86
QBID:150086

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Lapis Lazzauli obtained from Pameer Mountain ranges and Chagai hills of eastern Iran was very
precious for the trade made with Mesopotamia.

Reason B : Certain Harappan seals, coins and measuring tools have been found in Mesopotamian sites.

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
(11
) 2
(3) 3




(4) 4

BRI ACAtR) [+

DY : YR Gdagull 3R U S DI s Ugiiedi H UItd gl-ardl dieide HYAICIET & iy do-did
AR & e1C Sgd Jegd o |

DY 11 AU Rdl & $ geWly Hex, Ridd 3R d1¢ & 5

IRIFd YA b 3did H -iid [T Y f[dhed] I 9 el IR T 99 DifoIe:

1. HUA1 3R HUF T 3HI 9 &

2. FUAT AR FUT M AT 3T &

3. HUA1TA ©, Afch HUA 1 3T ©
4. BUTINT G, AlpT HYA 1T 5

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=14941]
2[Option ID=14942]
3[Option ID=14943]
4[Option ID=14944]

Sl. No.87
QBID:150087

Given below are two statements :

Statement I : A new kind of historic awareness dawned upon the masses in Maharashtra in the 18th century in the
form of Bakhars.

Statement II : This historic awareness emphasized devotional feelings and the ancient historical past of the
Hindus.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II is true
2. Both Statement I and Statement II is false
3. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
(1) 1

(2) 2

(3) 3

(4) 4

4 apy e U g:

HYA 1 : HSREdl QUdledl H HERIY H U U YDHR Pl Ufdgi e I a1k & Y H IH B GIHA 3713 |
DY 11 - Ig Vgt dd-1 HidauTd iR fg=g ardid W &d i ot |

SWRIGT HY b 3l H =i T 7T f[debedl # ¥ Ugl IwR 1 99 Bifore:

1. HUFT AR HUF I SH I &

2. HUF I R FUT I S 3R &

3. FUYA 1A g, dihd HUA T 3T &
4. P S, AT U 1T &

1) 1
(2) 2
3) 3
4) 4

.

1[Option ID=14945]
2[Option ID=14946]
3[Option ID=14947]
4[Option ID=14948]

Sl. No.88
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Given below are two statements :

Statement I : Harappan seals are usually small, flat, square or rectangular and are often made of steatite.
Statement II : In Harappan culture the shapes of peepal tree have been used on the seals.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II is correct

. Both Statement I and Statement II is incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement IT is correct
(1) 1

) 2

3) 3

4) 4

A al YA AU U &

HYF] : GSWTY He 3TH dR IR BICT, IUt, DR AT SABR g HR HHIR Ja@s| dl a1 83 6 |
DY 11 : oW G&hid H UITd & U Bl HIPiadi Ged R LA D15 § |

SWRIFI DY & 3Tl H i faU Y f[debedi # ¥ Ta8 Iugad 3R BT 94 HIfoIg:

. HUTI IR BUT S Tl o
2. FYFI R FYT I 1 TTAd §
3. FUA1 el 5, dldh- HYF 1 TTdd &
4. FYT17TAd ¢, AfbT HUT 1 Tl o

(1) 1
(2) 2
3) 3
4) 4

W I =

B

1[Option ID=14949]
2[Option ID=14950]
3[Option ID=14951]
4[Option ID=14952]
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Read the following statements and find the appropriate options :

Statement I : Right Vision, Right Knowledge and Right Conduct are the three means of attaining salvation as per Jainism
philosophy.

Statement IT : In Buddhist Philosophy Sheel. Samadhi and Prajna have been termed as Triratna.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II is correct
2. Both Statement I and Statement II is incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
(2) 2
(3) 3
(4) 4




HIfIRAT Byl Bl UghR Ifd [dhed IHu-

HYA 1 : GRIP G, FRID FI Ud GRID IR 2 i1 S+ &= H HI& & e g |
DY : dles &= H e, FHIY T Y= D1 BRE DI A1 &t B
SWRIFI DY & 3Tl H i faU Y f[debedi # I Ta8 Iugad 3R I 94 HIfog:

1. HUAT IR HUF I SH 9 &

2. HYUF I R FUT I ST 3R §

3. FUYF 1A g, dihd HUA I 3T &
4. P S, AP U 1T &

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=14953]
2[Option ID=14954]
3[Option ID=14955]
4[Option ID=14956]

Sl. No.90
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Mir-Bakshi was the name of a post during the Mughal period

Reason B : Mir-Bakshi was also called Mir-Munshi.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
1) 1
(2) 2
3) 3
4) 4
Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : HIR-a3=1 HI1d &1l H U U T 14 T |
ReasonR:ﬁ?-ﬁﬁﬁ?-ﬁQﬂﬁTwm I

In the light of the above statements, choose the most appropriate answer from the options given below :

1. FYF A IR FUF R &I Tl ¢ 3R R Gol WPH0 g A &l
2. HYUF A IR R Ye! g oIl R Uol WHIHI el o A B

3. AYEI g [h=J R UgI Tgl &

4. ATEI gl g [PdR UL T |

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=14957]
2[Option ID=14958]

3[Option ID=14959]
4[Option ID=14960]
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Read the following paragraph and answer the five questions that follow :

Monarchy is assumed to be the norm in the Arthashastra, and its teaching is addressed to the king. The text exalts
the position of the Svami, i.e,, king, in relation to other prakriti. Ashoka's inscriptions leave no doubt about the
king being the central focus of power in the empire. Ashoka describes himself in one of the minor rock edicts as
the raja of Magadha. But his inscriptions more often give him the epithets Devanampiy and Piyadassi.

i &0 T 3r=de &l AFYd® uled | FRfiiRad Uy &1 3w alford:

QIR H IodA Bl g1 YHA AP aril & 9 H WIHR (601 71 § T 39D ] T941 Bl 36
THIC I T B GUIHD THE G TEId BT © | T AT B =7 Ypicdl & s THIC b HaiuR
BIF Bl SGUINUIT R © | 3=AIH b 3feial I 1l BIg Heg el Xg Sdl [ THIe H g1 I &1 gyl il
S § | =N = U oY IRId1eid H W8 D1 A1Y & ISl & &9 | a1t 61 5| fobd THraa: 3
sfitcal # 3gb fo1u Samiftg qur fged o1 wr ge gl

Which small rock inscriptions of Ashoka mention his name as "Ashoka"

. Bairat, Nittur, Siddhpur and Sannati

. Maski, Nittur, Runath and Gavimath
. Maski, Udegolam, Gurjara and Nittur
. Maski, Siddhpur, Bairat and Rupnath
(1) 1

) 2

3) 3

(4) 4

32N & fob Y fRIereidl § 3 A1 '3{2Ieh' Dl ool [Hedl g 2

 HIREDT, Fegy. =014 Ud TS

HRDI, ST, ToRI Ud Hegy
4. ATED!, fHGOR, S Td U1y

(1) 1

) 2

3) 3

(4) 4

W B =

B

L R R

1[Option ID=14961]
2[Option ID=14962]
3[Option ID=14963]
4[Option ID=14964]
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Read the following paragraph and answer the five questions that follow :

Monarchy is assumed to be the norm in the Arthashastra, and its teaching is addressed to the king. The text exalts
the position of the Svami, i.e., king, in relation to other prakriti. Ashoka's inscriptions leave no doubt about the
king being the central focus of power in the empire. Ashoka describes himself in one of the minor rock edicts as
the raja of Magadha. But his inscriptions more often give him the epithets Devanampiy and Piyadassi.

A &0 T erf=de & YD digd | afaRad wg &1 3w <o

SR H IodT Bl g1 UMM I SIawil & 39 H WIHR 601 71 § auT 3UH! 91 6l 35
HHIE ] Yalfed Hd gU IUh THE TSR Uidd D1 ¢ | U Ao Bl 3= Yblddl & did Y & gaiui
B DI IGUIYUN B ¢ | 321 b SHfHerdl I HI D13 g T8l 18 Sirdl fob Fare # &1 ey @1 gl wrfersa
fAfed & | =N = U o7 RIdIeia H ¥ Dl 7914 & A6l & &9 H 1A 61 5| fob=d SH=id: o=
Sffteral H I [T SaHiiaa quT Ul &1 IR gon 6|




In which inscriptions of "Ashoka" Prakrit-Armaic scripts have been used?

. Shar-e-Kuna and Taxila

. Shahbaazgarhi and Mansehra
. Taxila and Shahbaazgarhi

. Lampak and Kandhar

(11

) 2

3) 3

(4) 4

3R & [ il | UTdhd - RASD forioal &1 uanT fobar mar g2

. QR-U-HT U daifrer

. QMTEdST el UG HHYER]
. &3l U g drsrTel
. I U4 HIRR

(1) 1

(2) 2

3) 3

(4) 4

W I =

.

W b =

I

1[Option ID=14965]
2[Option ID=14966]
3[Option ID=14967]
4[Option ID=14968]
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Read the following paragraph and answer the five questions that follow :

Monarchy is assumed to be the norm in the Arthashastra, and its teaching is addressed to the king. The text exalts
the position of the Svami, i.e., king, in relation to other prakriti. Ashoka's inscriptions leave no doubt about the
king being the central focus of power in the empire. Ashoka describes himself in one of the minor rock edicts as
the raja of Magadha. But his inscriptions more often give him the epithets Devanampiy and Piyadassi.

A4 fa0 T srf=9e & eFYde uled | HufaRad Uy o1 I i

SR H AT Bl g1 YH Ao-1Tdd aRil & 9 H WIHR (601 71 § T 39| 941 Bl 35
THIC I YaIed Hd §U I THE TS TXd D1 ¢ | U4 Ao DI 39 Yhiadl & did HIC & Faii
B DI IGHINUN B 8 | 3=l b SHiHerdl I HI D13 Heg el X8 Sirdl fob Fare # g1 ey 1 gl e
fAfgd € | 3= = U oY FRIcileid 1§ W Dl 737¢ & Aol & &Y H Y&Ifed fobdr g1 fov=g rar=ad: 3=
Sfi¥cal # g fo1u Samifty qur fugad o1 war gen gl

‘Which adhikaran of "Arthshastra' is called "Kantak-Shodhan"?

. Fourth adhikaran
. Fifth adhikaran
. Eighth adhikaran

. Sixth adhikaran
1) 1
(2) 2
(3) 3
4) 4

3ATRE & [y BN BT 711 HUCH-TMEH g2

1. =1 3fferm
R IECEICE T
3. 3iTd JHfeHRuT
4. B HGHI

11
(2) 2
3) 3

W I =

B




(4) 4

1[Option ID=14969]
2[Option ID=14970]
3[Option ID=14971]
4[Option ID=14972]
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Read the following paragraph and answer the five questions that follow :

Monarchy is assumed to be the norm in the Arthashastra, and its teaching is addressed to the king. The text exalts
the position of the Svami. 1.e., king, in relation to other prakriti. Ashoka's inscriptions leave no doubt about the
king being the central focus of power in the empire. Ashoka describes himself in one of the minor rock edicts as
the raja of Magadha. But his inscriptions more often give him the epithets Devanampiy and Piyadassi.

e {32 T erf=de & YA died | FufaRad uy &1 3w o

2R H IodA Bl g1 YA Ao-1Tdd HaRl & 29 H WIHR 601 T § T 39| TG4 Bl 36
THIC Pl AT Bl U IHD THE TG TId BT § | U Ao B =T Yeplcrdl & diid FHIC &b HauR
Bl DI IGUINU DR © | 3=Mb & SHfieidl Y ol DI Heg -Tei X8 oidl fb guIe 1 g1 ¥red o1 gt wfeai
[ATEd § 1 Sf=IIe -1 U 7Y [RUcireiRd H X9 &l HIY & 9Tl &b =9 | Aaled [ g | b qrHrad: o=
afftcral # g fo1U Samifg qur fugedl o1 T ge gl

How many elements of state are mentioned in "Arthshastra"?

L R
CooLh =1 O

-“A -

(1) 1
(2) 2
(3) 3
(4) 4

SRR H a1 T B Uil o1 Jeeld fAredl 5?2

L b =
oo h =1 ON

4;'- -

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=14973]
2[Option ID=14974]

3[Option ID=14975]
4[Option ID=14976]

Sl. No.95
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Read the following paragraph and answer the five questions that follow :

Monarchy is assumed to be the norm in the Arthashastra, and its teaching is addressed to the king. The text exalts
the position of the Svami, i.e,, king, in relation to other prakriti. Ashoka's inscriptions leave no doubt about the
king being the central focus of power in the empire. Ashoka describes himself in one of the minor rock edicts as
the raja of Magadha. But his inscriptions more often give him the epithets Devanampiy and Piyadassi.

i &0 T 3r=de &l AFYd® uled | FRfiiRad Uy &1 3w alford:

QIR H IodA Bl g1 YHA AP aril & 9 H WIHR (601 71 § T 39D ] T941 Bl 36
THIC DI AT Bl U IHD GHE G TEId BT © | T Ao B =1 Yeplcdl & did THIE &b HaluR
BIF Bl SGUINUIT R © | 3=AIH b 3feial I 1l BIg Heg el Xg Sdl [ THIe H g1 I &1 gyl il
S § | =N = U oY IRId1eid H W8 D1 A1Y & ISl & &9 | a1t 61 5| fobd THraa: 3
sfitcal # 3qb foru Samifty qur figed o1 i ge gl




In which other source Ashoka has been described as "Devanampiya" and "Piyadasi"?

. Indica

. Mahavansh
. Ashokavdan
. Jataka

1) 1

(2) 2

(3) 3

4) 4

oy 3T A1 | 3=iie & fou camifog quT faedt Iurfet &1 uaT fdar 711 g2

1. 3fed1
2. Hgldyl
3. 3RNBAeH
4. SIlddH
(1) 1
(2) 2
(3) 3
4) 4

W I =

I

1[Option ID=14977]
2[Option ID=14978]
3[Option ID=14979]
4[Option ID=14980]
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Read the following passage carefully and answer the questions that follow :

Swami Vivekananda said :

"For nearly the past hundred years, our country has been flooded with social reformers and various social reform
proposals. Personally, I have no fault to find with these reformers. Most of them are good, well-meaning men and
the aims, too, are laudable on certain points, but it is quite a patent fact that this hundred years of social reform
has produced no permanent and valuable result appreciable throughout the country... The reason is not hard to
find. It is the denunciation itself....

We have to learn many lessons from outside, but I am sorry to say that most of our modern reform movements
have been inconsiderate imitations of Western means and methods of work: and that surely will not do for
India....

In comparing the different races and nations of the world I have been among, I have come to the conclusion that
our people are, on the whole the most moral and the most godly, and our institutions are, in their plan and
purpose, best suited to make mankind happy. I do not, therefore, want any reformation. My ideal is growth,
expansion, development along national lines.... I am no preacher of momentary social reform. I am not trying to
remedy social evils. I only ask you to go forward and to complete the practical realization of the scheme of
human progress that has been laid out in the most perfect order by our ancestors.

Frafeiad sif=c &I AMYde Ul SR 39 TR TR U4l DI IR ST
Wl faddr-e 9 Hegh:

OB ATHT A a9 J GAR <X H B AN YURD 8T & MR THS-YYRD & [AfH 0RaTd 2 gl
AT EU Y H 7 GYRDI T Dls B Aol o@dl 5| 374 I SIEIHR 3 o, 9gdR Bl 9Igd g, IR $S
ATl H 395 Ie-d Hi U= A1 g | W1 ag qe T Uy ¢ [ SHIS-YoR & 3 91 aul # oy 0ar Rl
aﬁiqﬂaﬁgﬁwﬁwgsﬂwm@%mﬁﬁl ... SHDHT DRI g1 Jf%hd ol g1 T8 HSHT
Al fAfRiagl.....

&H d1eY 4 B3, vl URal =T, dichd {2l g4 ¢ b SIEIaR Sy YR sf-<ia= S & ufge Iuri
3R RN BT 34T (DRI §; 3R UG dRIDI HRA & [ ST 761 8T ...

ﬁqﬁf\uﬁwﬁmaﬂ?ﬂ@%@ﬂﬂﬁ@g@ﬂﬁ@ﬁﬂ%ﬁ%ﬁsﬂﬁmﬁwmgﬁimaﬁ $d
ForeTehR e STe] Afde Ud SUR-IRMAU §, R GHRI URITU-30 AIeH 3R Ie-d H - AHaSld &I
HRIETA 3@ & (o8 a9 ST SUYH ¢ | ST H [ GUR-H-aId &1 aoblerd ol &l | IRT & g
- PR UGN & e Jfel, [aEIR R 4T |........

¥ &0 FO-YUR BT 39 Aol Gal g | H QIS el & GHIYM &1 BIRR 7ol ax el g | H oMy
Rt g5 el § [ 311 9T 3R HIFG-[dhr $i o/ IS &1 gHR Yol - Jaiad aeid 3 [FHd [ar g
3Yh ATGIRD HUFITT bl G B |"

Which among the following derives from the passage?

1. People of this world are very unhappy.
2. Attempts at momentary social reforms would not yield fruitful and durable results.
3. Material development should precede other kinds of developments.
4. Our ancestors laid out a model of development applicable only to our country
(11
) 2
(3) 3
(4) 4

fmfaRad § $11 SWiad eff=ve § Afgd 82

1. 39 YYR P AN agd gul 5 |

2. &if0rh G GYUR & VATl & IR0 dHadD 3R g g1 gl |

3. HIfd® [dhT 3 YR o [dH1 & Ugd gi-1 dligul

4. TAR gdsil 4 f[pr o1 U o [fHd &t il it gaR <% & e 39g« |




(1) 1
(2) 2
3) 3
4) 4
1[Option ID=14981]
2[Option ID=14982]

3[Option ID=14983]
4[Option ID=14984]

Sl. No.97
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Read the following passage carefully and answer the questions that follow :

Swami Vivekananda said :

"For nearly the past hundred years, our country has been flooded with social reformers and various social reform
proposals. Personally, I have no fault to find with these reformers. Most of them are good, well-meaning men and
the aims, too, are laudable on certain points, but it is quite a patent fact that this hundred years of social reform
has produced no permanent and valuable result appreciable throughout the country... The reason is not hard to
find. It is the denunciation itself....

We have to learn many lessons from outside, but I am sorry to say that most of our modern reform movements
have been inconsiderate imitations of Western means and methods of work: and that surely will not do for
India....

In comparing the different races and nations of the world I have been among, I have come to the conclusion that
our people are, on the whole the most moral and the most godly, and our institutions are, in their plan and
purpose, best suited to make mankind happy. I do not, therefore, want any reformation. My ideal is growth,
expansion, development along national lines.... I am no preacher of momentary social reform. I am not trying to
remedy social evils. I only ask you to go forward and to complete the practical realization of the scheme of
human progress that has been laid out in the most perfect order by our ancestors.

Ffeiad si=c D1 AMYds ufgU 3R 3Y R AR U4l DT IR ST
T f[ddepric 9 ek

"fOSe T 1 N H gAR <X H B FAN YURD gU & 3R GHIS-YURD & [AfHe URdTd 3¢ &l
HfRHTT EU Y H 7 GURS! F Pis B 7ol S@AI 51 TT8 G WIEKR 3 &, 960 H1 916d &, 3R $S
aHdl § 3% 35 lﬁmaﬁméﬁmwawlﬂw%ﬁwqmﬁwaiﬁﬁﬁﬁaﬂéww
ﬁ?ﬂ?ﬂﬂﬁ;ﬁﬂﬂﬂﬁwgsﬂwm@?ﬂﬁﬁl ... 3BT BRUI &1 IfHd T8l 81 Tg U
deifAfefazgl....

TH 916R U P, divl gl A1gy, difdT el - ¢ 19 SATaTeR 1Y YR 3fald- S & gl Iurl
3R TIpI T ST SRl §; 3R Fg dRIdhl HRd P 1T IugeRd g1 GRT |........

i?ﬂﬁf\uﬂwmaﬂ??@%@ﬂﬂﬁﬁ@ﬁﬁﬂﬁ@ﬁﬂ%ﬂ%ﬁgﬂﬁﬁéﬂﬁ@mﬁﬁisﬂﬁﬁﬂ Fd
Ty oy WTel A Ud SHR-IRIA01 &, 3R gHRT YRITE-3(0+! ieiT 3R 3520 & - Arauita &1
GIETE X & fo1e g Sa1e1 Iugad o | guife § fardht GeR- =< & adlad Tel dxdl | 317 31e=i g
- YT TR & 3 Jafd, fIdR SR fApr ...

H &if01e GHS-GUR 1 JUS e adl § | H G RISl & GHINH & HIRIL 8] P @1 § | 7 210y
¥t I8 Pedl g I 311 9i¢T 3R HFG-[dhTy 1 {57 Floi1 DI gHR Ydsll - garad aie § FiHd far g
3 ATTGIND BIFGIT Pl G PX |"

According to the passage, the social reforms did not produce permanent results, because :

1. They did not put forward viable alternatives.
2. They were more focused on denouncing the society and traditions.
3. They worked with biases and prejudices.
4. They did not have a blueprint of the future.
(1) 1
) 2
3) 3




(4) 4

39 3T=9G & STUR, GHIS-YURD! - Rl 9o gl i3u Fif -

1. 3gi el fdsbed uedd el fhu|
2. IADT AT SUTERR JHTS 3R TRURTSHT B HIAT R i oIl
3. 35 U&MITd SR YdiUg & |1l S foba|
4. 3% U Y™ @1 Plg T0@l ol AT
1) 1
) 2
3) 3
(4) 4

1[Option ID=14985]
2[Option ID=14986]
3[Option ID=14987]
4[Option ID=14988]
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Read the following passage carefully and answer the questions that follow :

Swami Vivekananda said :

"For nearly the past hundred years, our country has been flooded with social reformers and various social reform
proposals. Personally, I have no fault to find with these reformers. Most of them are good, well-meaning men and
the aims, too, are laudable on certain points, but it is quite a patent fact that this hundred years of social reform
has produced no permanent and valuable result appreciable throughout the country... The reason is not hard to
find. It is the denunciation itself....

We have to learn many lessons from outside, but I am sorry to say that most of our modern reform movements
have been inconsiderate imitations of Western means and methods of work: and that surely will not do for
India....

In comparing the different races and nations of the world I have been among, I have come to the conclusion that
our people are, on the whole the most moral and the most godly, and our institutions are, in their plan and
purpose, best suited to make mankind happy. I do not, therefore, want any reformation. My ideal is growth,
expansion, development along national lines.... I am no preacher of momentary social reform. I am not trying to
remedy social evils. I only ask you to go forward and to complete the practical realization of the scheme of
human progress that has been laid out in the most perfect order by our ancestors.

FafaRad sr=ba &I e-Ydd UfeU R 39 TR 314TRd U4l T IR dIfSe:
! fqdhTe A Hek:

oSS T 1 N H gAR <X H B TAN YURS gU § 3R YHS-YURD & fafHe TRdTa MU gl

G Y G H 37 GURDI H Bls HHl 7ol S@dI 51 379 Y SRR 3 8. 9gk Xl 9lgd 8, AR T&
HHdl # 3 e il uxiar g €1 o 7 qu Hi Ty € o THS-guR & 37 91 9w # $is gar wrd

Gﬂ?ﬁ?ﬂﬂﬁ;ﬁﬂﬂﬂﬁwgwwmﬂj?ﬂﬁﬁl ... D] DRUI g1 Hf2hdl el 61 T8 H&A
HetfAfefagl.....

SH S1EX I D divl URaH! A8, cifd1 H3l g § o SIeTaR S1Yfd R Sf<id- S & ufg Jur
3R TDI BT ST THRU B: 3R g dRID1 HRd P o1 Jugerd g1 GH T |........

o faferet romicrat o R0 & &= H § R8T § 311 el & U H 39 [y W ugl g [ gAR ail. d
e~ T STeT Afd Ud SHR-TRA0 ¢, 3R AR GRUTE- 30T TIoT 81R I830 H - Aawifd &l
GBI 3@ & [OTC YU ST SUYH 6 | AT H [l GUR-3{-aId ] aoblerd g! ®al | BT 3H1Ex g
- P UGN & e Jafel, [aEIR 3R fapTa |........

H &if01e GHS-GUR &1 JUS e adl § | H GrHIfSie RI5a1 & GHIUM &SI T6] d @1 § | 7 0y
¥t g Pedl ¢ fd 311 9i¢T 3R HAHd-[dhTy 1 579 FIoiHI DI gAR Ydsil 4 Jarad aie I [fid foarg
3Yh ATGIND DU+ bl G DY |"




Which among the following is a significant message in this passage?

. Social reform and national development are inseparable.

. India is a traditional society based on spiritual development
. India's past contains the scheme of human progress

. Foreign rule stemmed the tide of India's progress

(11

(2) 2

3) 3

(4) 4

afciad & o0 39 srf=e &1 Ub Agaqul 92 g2

1. GHS-GYR AR AP fapry sifa=var 3|
2. U 3MATHD [AH T UR TR T GURRTd JHTS g |
3. YRd & 2l & 914 TP &1 gioiH1 <Ay g |
4. TR0 UM A YR & [T & Hdrg ol bl
1) 1
o 1
3) 3
(4) 4

W I =

I

1[Option ID=14989]
2[Option ID=14990]
3[Option ID=14991]
4[Option ID=14992]
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Read the following passage carefully and answer the questions that follow :

Swami Vivekananda said :

"For nearly the past hundred years, our country has been flooded with social reformers and various social reform
proposals. Personally, I have no fault to find with these reformers. Most of them are good, well-meaning men and
the aims, too, are laudable on certain points, but it is quite a patent fact that this hundred years of social reform
has produced no permanent and valuable result appreciable throughout the country... The reason is not hard to
find. It is the denunciation itself....

We have to learn many lessons from outside, but I am sorry to say that most of our modern reform movements
have been inconsiderate imitations of Western means and methods of work: and that surely will not do for
India....

In comparing the different races and nations of the world I have been among, I have come to the conclusion that
our people are, on the whole the most moral and the most godly, and our institutions are, in their plan and
purpose, best suited to make mankind happy. I do not, therefore, want any reformation. My ideal is growth,
expansion, development along national lines.... I am no preacher of momentary social reform. I am not trying to
remedy social evils. I only ask you to go forward and to complete the practical realization of the scheme of
human progress that has been laid out in the most perfect order by our ancestors.

Frafeiad sif=c &I AMYde Ul SR 39 TR TR U4l DI IR ST
Wl faddr-e 9 Hegh:

OB ATHT A a9 J GAR <X H B AN YURD 8T & MR THS-YYRD & [AfH 0RaTd 2 gl
AT EU Y H 7 GYRDI T Dls B Aol o@dl 5| 374 I SIEIHR 3 o, 9gdR Bl 9Igd g, IR $S
ATl H 395 Ie-d Hi U= A1 g | W1 ag qe T Uy ¢ [ SHIS-YoR & 3 91 aul # oy 0ar Rl
aﬁiqﬂaﬁgﬁwﬁwgsﬂwmuﬁﬁmﬁﬁl ... SHDHT DRI g1 Jf%hd ol g1 T8 HSHT
Al fAfRiagl.....

&H d1eY 4 B3, vl URal =T, dichd {2l g4 ¢ b SIEIaR Sy YR sf-<ia= S & ufge Iuri
3R RN BT 34T (DRI §; 3R UG dRIDI HRA & [ ST 761 8T ...

ﬁqﬁf\uﬁwﬁmW@%Wﬂﬁwgaﬁw%umﬁsﬂﬁwﬁwmgﬁimaﬁ $d
ForeTehR e STe] Afde Ud SUR-IRMAU §, R GHRI URITU-30 AIeH 3R Ie-d H - AHaSld &I
HRIETA 3@ & (o8 a9 ST SUYH ¢ | ST H [ GUR-H-aId &1 aoblerd ol &l | IRT & g
- PR UGN & e Jfel, [aEIR R 4T |........

¥ &0 FO-YUR BT 39 Aol Gal g | H QIS el & GHIYM &1 BIRR 7ol ax el g | H oMy
Rt g5 el § [ 311 9T 3R HIFG-[dhr $i o/ IS &1 gHR Yol - Jaiad aeid 3 [FHd [ar g
3Yh ATGIRD HUFITT bl G B |"

What is the meaning of the phrase : "inconsiderate imitations of western means and methods of work" in the
context of this passage?

1. Applying western methods in some cases
2. Applying western terminologies to understand some aspects of Indian society
3. Developing a complex understanding of Indian society
4. Blindly following the western methods to diagnose India's social evils and prescribe solutions
(1) 1
) 2
3) 3
(4) 4




39 e H iR arei= o1 R o 82
"1 & UfEl FUrl SR el BT 3ieT SR

1. P "Ml H ufgH et &1 uanT
2. HR GHIS & H& ATHI T FAZ b g Uil rsardedt &1 wai|
3. HRA G DI Sificd Hgt [dh g o
4. YR GHTS &1 G181 $I Sl R FeM WRdd a3 og uiaH aliel &1 sier |
(1) 1
) 2
3) 3
4) 4

1[Option ID=14993]
2[Option ID=14994]
3[Option ID=14995]
4[Option ID=14996]

Sl. No.100
QBID:150100

Read the following passage carefully and answer the questions that follow :

Swami Vivekananda said :

"For nearly the past hundred years, our country has been flooded with social reformers and various social reform
proposals. Personally, I have no fault to find with these reformers. Most of them are good, well-meaning men and
the aims, too, are laudable on certain points, but it is quite a patent fact that this hundred years of social reform
has produced no permanent and valuable result appreciable throughout the country... The reason is not hard to
find. It is the denunciation itself....

We have to learn many lessons from outside, but I am sorry to say that most of our modern reform movements
have been inconsiderate imitations of Western means and methods of work: and that surely will not do for
India....

In comparing the different races and nations of the world I have been among, I have come to the conclusion that
our people are, on the whole the most moral and the most godly, and our institutions are, in their plan and
purpose, best suited to make mankind happy. I do not, therefore, want any reformation. My ideal is growth,
expansion, development along national lines.... I am no preacher of momentary social reform. I am not trying to
remedy social evils. I only ask you to go forward and to complete the practical realization of the scheme of
human progress that has been laid out in the most perfect order by our ancestors.

frafiRad o= D1 AFYdD Ul¢U IR 34 W MR Ul D1 IR dfeie:
Wl fadere A Hel:

"fOSe T 1 N H gAR <X H B FAN YRS gU & 3R YHIS-GURD & [AfHe URdTd 3¢ &l
HfRHTT EU Y H 7 GURS! F Pis B Tl S@AI 51 T78 G WIEKR 3 &, 950 H1 916d &, 3R $S
aHdl § 3% 35 lﬁmaﬁméﬁmwawlﬂw%ﬁ?WﬁW%ﬁﬁﬁﬁaﬁéww
aﬁ?ﬂ?ﬂﬂﬂ;ﬁ%ﬂﬁwgwwmuﬁﬁmﬁﬁl ... 3BT RO &1 Gfhd gl g1 T8 W
deifAfefazgl....

&H S1ER ¥ B il el F1iey, A A2l g ¢ fob ararar siyfHe guR si<ie Sri & uigH Iurl
3R TRIPI T ST SRl B; 3R Fg dRIdI HRd P eIt IuYed g1 GHT |........

ﬁqﬁﬁmwﬁﬁaﬂ??@%ﬁﬂﬂﬁﬁ@ﬁ@ﬂﬁgﬁﬂ%%ﬁﬁgﬂﬁ@ﬁﬂ?ﬂ@mﬁ%maﬁ od
TR e ATal Hidd Ud 3 4R-IREAU ¢, SR gART S-S0 AISHT 3R I H - AFaSild $
GIETE X & fo1e g Sa1e1 Iugad o | guife § fardht GeR- =< & adlad Tel dxdl | 317 31e=i g
- YT TR B 3icid Jafd, fadR SR fapr ...

H &fO1 TAS-GUR &1 39S e adl § | H QIS GRIsd1 & THIMH & HITA Tl PR I1 § | 7 AT
¥t I8 Pedi ¢ I 311 9i¢T 3R HG-[dhTy &1 (57 Floi1 Bl gHR Ydsll - gaiad asie § FiHd fhar g
JYeh ATGGIRD BIGTT Bl QB |




Which among the following is not implied in this passage?

1. Swami Vivekananda did not find any fault with the reformers personally
2. We should desist from denouncing the society and traditions
3. Our society has left the route of spiritualism and been completely subordinated to materialism
4. Our past has solution to many problems of human life
1
(2 2
(3) 3
(4) 4

39 of=se | fufafad & O & O ara ffga 781 82

1. S fddT-<a 3 GURS| § it &9 U Blg HHl el aEd|
2. FHTS 3R GIURT @[ Y1 Y 941 918U
3. THRI YU HeATEHD A1 Bl B8 Y3l drg U Hifdhdre & ¢ gl dhl ¢
4. BAR 3(citd # AFa-Siiad &1 $s gareff I Safed T faed = g |
) 1
(2) 2
3) 3
(4) 4

1[Option ID=14997]
2[Option ID=14998]
3[Option ID=14999]
4[Option ID=15000]

Sl. No.101
QBID:7201001
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% ) 22%
B 16,000 ) 33% 27%
& 18,000 32% 36% ()
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed wheneve!: required.
frafaRaa aifde! A-E Ui 7idl $1 SEmel 3R 399 I3 (M), Jfgdl (F) 3R giioieR & Wia=md f[adur &1
cxfclt 81 59 a1 1 faU 7T sl & SUR TR WY & SR alfolt:

STETE] 1 ITHAR faarul
- TaaRT W= (%)
RG] Pl e g i 5 T
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-} 20%
E 25,000 (-) 30% 25%
ie: aferet o Rad 419 &1 () GRI a1 741 § forie] URSaH Havgear{aR (&1 9Hl 5
Transgender population in Village - A is % of the female population in Village - B.
1.75
2.50
3.33.33
4. 66.66
(1) 1
(2) 2
3) 3

(4) 4




Tiig A ¥ oS @1 3frard] i B & Aigarsi &1 siam! &1 %3l

75
50
.33.33
. 66.66
(1) 1

() 2

(3) 3

(4) 4

Paire

e a

1[Option ID=16401]
2[Option ID=16402]
3[Option ID=16403]
4[Option ID=16404]

Sl. No.102
QBID:7201002
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
C 18,000 32% 36% (-)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed wheneve[ required.
frafeRaa afereT A-E Uid 7idl &1 SEmEl 3R 399 G2 (M), Afedl (F) SR giIoiex & Ji=id [ad 0 &1
&xIicll &1 39 dIfciaT § 4T Y i s! & SR WR UY & 3 gl

TETE] &1 YTHAR G

. - faeRur uid=rd (o)

g od M F T
A 12.000 16% S) 22%
B 16.000 &) 13% 27%
C 18.000 32% 36% &)
D 24.000 36% 5] 20%
E 25.000 &) 30% 25%

Aie: diferept & Rad 311 &1 (-) §RT SX101 747 & [S9e1 YRS HahHarTaR [6a1 o 3

Find the difference between male population in Village - E and female population in Village - D.

. 890
. 830
. 690
. 610
1) 1
(2) 2
(3) 3
(4) 4

Tifa E H g3 &1 el 3R 7ifd D H Afgansi o s1ardl & offe ol 3R feba 1 62

O R

1. 890
2. 830
. 690
. 010
(1) 1
(2) 2
3) 3
(4) 4

T

1[Option ID=16405]
2[Option ID=16406]
3[Option ID=16407]
4[Option ID=16408]

Sl. No.103
QBID:7201003




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% (=) 22%
B 16,000 () 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (=) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.

frafaRaa aifde! A-E Ui 7idl $1 SEmel 3R 399 I3 (M), Jfgdl (F) 3R giioieR & Wia=md f[adur &1
oielt €1 50 it § 3T TTU 3w s & SR WR 7Y & 3R SIf:

BETE} BT YHAR G

N I TaaRT W= (%)

i W M F T
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-
D 24,000 36% (-) 20%
E 25,000 (-) 30%% 25%

ie: aferet o Rad 419 &1 () GRI a1 741 § forie] URSaH Havgear{aR (&1 9Hl 5

Find the ratio of population of transgenders in Village - C to population of males in Village - B.

.9:10
.78
i
.27:32
1) 1

(2) 2

3) 3

@) 4

Tifa ¢ T gioisR SR 7ifa B T YUl &1 SHTETE] 1 SFUTd J1d Sl |

0

L

[
[ SR SIS R ]
-

e a

ST

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16409]
2[Option ID=16410]

3[Option ID=16411]
4[Option ID=16412]

SI. No.104
QBID:7201004




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% (=) 22%
B 16,000 () 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (=) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaRaa aifde! A-E Ui 7idl $1 SEmel 3R 399 I3 (M), Jfgdl (F) 3R giioieR & Wia=md f[adur &1
XM ©1 59 AT | 4T 7Y S s! & SR IR T B 3R S

3TETE] &1 UHAR fgaor

N I TaaRT W= (%)

i W M F T
A 12,000 46% (-) 22%
B 16,000 (-) 33% 27%
C 18.000 32% 36% (-
D 24,000 36% (-) 20%
E 25,000 (-) 30%% 25%

ie: aiferet & Rad 9 &t (-) R axifan 7471 § o1 tRe e sTaasar aR fear o 3

What is the difference between number of males and females in Village - A ?

1. 480
2.1920
3.1120
4.1680
1 1
(2) 2
3) 3
(@) 4

Tiig AT qoul SR Afgansi &1 9= & & &I 3R [bal 82

. 480
.1920
. 1120
. 1680
(1) 1
(2) 2
(3) 3
(4) 4

[

e a

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]

Sl. No.105
QBID:7201005




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population v F T
A 12,000 46% (=) 22%
B 16,000 () 33% 27%
G 18,000 32% 36% (-)
D 24,000 36% (=) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed wheneve!: required.
frafaRaa aifde! A-E Ui 7idl $1 SEmel 3R 399 I3 (M), Jfgdl (F) 3R giioieR & Wia=md f[adur &1
XM ©1 59 AT | 4T 7Y S s! & SR IR T B 3R S

3ETdl &l AHAR [gavul

N TaaRT W= (%)

g @l e g i 5 T

A 12 000 46% (-) 22%

B 16,000 (-) 33% 27%

C 18,000 32% 36% =)

D 24 000 36% (-) 20%

E 25,000 (-) 30% 25%
ie: aiferet & Rad 9 &t (-) R axifan 7471 § o1 tRe e sTaasar aR fear o 3
Total number of females in Villages B and D together is % more than the number of males in Village
-C.

1.275

2225

3.125

4. 175
(1) 1
(2) 2
3) 3
4) 4

7l B 3R D alF1 § U% W1y Aigarsi &1 o w1 7lia ¢ ¥ g3l B & H fdva-1 v e g2

W
[ e 2 I B
=1 b2 -
h Ln Ln Lh

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=16417]
2[Option ID=16418]

3[Option ID=16419]
4[Option ID=16420]

Sl. No.106
QBID:7201006

In ADDIE model of instructional design framework, the letters I and E in the acronym ADDIE pertain to

1. Identification and Evaluation
2. Implementation and Evaluation
3. Identification and Examination
4. Implementation and Examination
1) 1
(2) 2
3) 3
4) 4




312l fSTI81 U@l & ADDIE (TSI 3Mss) Aisd § URkaull Wsg ADDIE & 38R 1 3R E farad
fafed g2

1. Ferdiepur 3R Hedich
2. PI-aE 3R Tedie
3. fergiexn ok wiian
4. DIY-ag R I

1 1

) 2

3) 3

) 4

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

Sl. No.107
QBID:7201007

Students participating in online classes are taught by an instructor. Following the lesson, the instructor intends
to incorporate reading materials (e-content, Power point presentation, ete.) that can be viewed by the students.
What option would instructor choose ?

1. Content creation tools
2. Networking tools

. Learning Management System (LMS)
. Links of the websites

(1) 1

(2) 2

3) 3

(4) 4

HIEATS P& T UM @ I3 Gl &1 us 3raxie Ugrdl ¢ 1 U8 & a1a SI4RI% UaH-anri (-favg
I, TR Wige U 3NfS) 59 I520 4 o a1 § & el g9 sfadiio o9& | 59 iy
IS BI-H fddhed DT = S

1. fawgasg Ao SusR0
2. FeafdT U
3. 3{IEATH WaeH WUMell (TauHTe)
4. A9ECH & fid
(1) 1
2) 2
3) 3
(4) 4

s

1[Option ID=16425]
2[Option ID=16426]
3[Option ID=16427]
4[Option ID=16428]

Sl. No.108
QBID:7201008

Which of the following does not come under primary laws of learning ?

. Law of effect

. Law of Readiness

. Law of Multiple response
. Law of exercise

1)1
(2) 2
(3) 3
(4) 4

frafeRad 3 e-a Fas siftem & wuihs Faal & sidid T8l e g2

1. W4 &1 FaH
2. Rl &I gy
3. 9§ TR @1 a9
4. 3T &7 o
(1) 1
(2) 2
3) 3

e R




(4) 4

1[Option ID=16429]
2[Option ID=16430]
3[Option ID=16431]
4[Option ID=16432]

Sl. No.109
QBID:7201009

Given below are two statements
Statement I : Project method is best associated with the Philosophy of John Dewey.

Statemnent IT : The strength of Project method lies in social participation.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement [ is incorrect but statement IT is correct.
(1) 1

2) 2

3) 3

(4) 4

FE A PRy E:

HUA 1 : aRarer faft S St & 9= 9§ gaffie w0 9 9dfia g

PU 11 : IRATHT [T B vaerdn Ao wfauifiar 8 Figa gl

SIRIGI DY P 3l 1, Hi fEU M0 fam el § I a8 IUgad SR D1 TG HIOI:

PYTIAR IS el © |

PYF IR EH T ¢ |

FYF el 8. G U N TEd § |
YA LT B, AT PUT I T & |
1 1

(2) 2

(3) 3

(4) 4

e L b2

[

e

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.110
QBID:7201010

For Undergraduate educational programmes, courses on SWAYAM Platform have been developed by :

A NPTEL

B. IIM Ahmedabad
C. AICTE

D. CEC

E. IIM Bangalore
F. UGC

Choose the most appropriate answer from the options given below :

1. A, C,Dand E Only
2.B.D. and F Only
A.D.E and F Only
.C.E and F Only
1) 1

(2) 2

3) 3

(4) 4

o a




Ud HId® Qe SricHl & AL W (SWAYAM) TR 2&f01es URTH SiR UTeasd [dde gRI [aeid e
gl
A TAOER TG

B. SRR, RTINS
e

D. digd!
E. 3SSMISUH, §TTAR

F. fg.31.3Mm.
9 feu e faweal 7 9 9ad 3ugad IR &1 90 SIS

1.$IAA, C, D HRE
2. FGAB, D 3R F
3. PdAA. D, E ARE
4.PTAC,E ARF

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16437]
2[Option ID=16438]
3[Option ID=16439]
4[Option ID=16440]

Sl. No.111
QBID:7201011

While reading research paper or research reports, often one comes across the abbreviation 'viz', which means

. for example
. namely

. against

. refer to

1) 1

(2) 2

(3) 3

(4) 4

MY T 1 WY yfade (Rald) ded Tmd urg: SfEier viz' 3T 8, 59T o &

L

1. Sereony
2. T3t
3.F [d%a
4. F e
(1 1
(2) 2
3) 3
(4) 4
1[Option ID=16441]
2[Option ID=16442]

3[Option ID=16443]
4[Option ID=16444]

Sl. No.112
QBID:7201012

A student submits Ph.D. thesis in a university. Upon scrutiny, it is found that his'her thesis has a similarity
content of 35%. This would fall in which of the following categories of plagiarism according to UGC

regulations ?

.Level 0
.Level 1
.Level 2
.Level 3
(1) 1
(2) 2
3) 3
(4) 4

R




o faendf ve fayfaeman & s d-ua 3. 2y yey o8 Sd1 g1 39S Y UaY D Jdiel e WX
I [avTasd & 35% N H G-l UTg ol o | fayfaemes sem s & fafaml & sear
frafafad & 3 o5 wifidw 981 & e W & smar g2

KR O0
LR
I 2
L3
1) 1
(2) 2
(3) 3
4) 4

[

O ]

1[Option ID=16445]
2[Option ID=16446]
3[Option ID=16447]
4[Option ID=16448]

Sl. No.113
QBID:7201013

The part of research paper that gives an overview of the field to be investigated and the investigator's
hypotheses about the research outcome, is called

1. Abstract

2. Introduction
3. Results

4. Method

(1) 1
(2) 2
3) 3
(4) 4

Y 3TeE BT ag U o QY & fany &9 &1 fqgmaare- SR Y & fFepy & IR T ofau® &1
U eII3H &1 Jeerd a1 WIdl 8, 39 S8l &l &

R
PEIGEI]
gy
fafer

B =

L

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16449]
2[Option ID=16450]

3[Option ID=16451]
4[Option ID=16452]

Sl. No.114
QBID:7201014

A study in which a group of participants is observed and measured over a period of time, refers to

1. Longitudinal Research
2. Archival Research

3. Cross-sectional Research
4. Correlational Research

1) 1
(2) 2
3) 3
(4) 4

U A oy BTl & U WiE &1 U T faiy 3 U&ful SR HI9 a1 SiTdl 8, 39 el oldl o




1[Option ID=16453]
2[Option ID=16454]
3[Option ID=16455]
4[Option ID=16456]

Sl. No.115
QBID:7201015

Given below are two statements :

Statement I : In case of qualitative phenomena, we have data on the basis of presence or absence of an
attribute or more than one attribute.

Statement IT : With such data as mentioned in Statement I above the sampling distribution may take the form
of a Binomial probability distribution.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

(2) 2

3) 3

4) 4

e &l Py Ry @

DY : UITES TRGCH P EFI/PH H, 67 TP I1 T I SHiUe [aRaarsil/aamn o1 Surkyfd sryar
SR & STUR TR ST Tfed B3 3

HUA 11 : ST PYA-1 H I fipe! 1 wfiesl faqwor fgudia mided fdawu & =9 4 gl 9 g |
SWRIGd HYA & el H i fau 7 fadedl § 9 961 IR &1 99 HIfU:

HYFINRISH T E |

HYT I AR I SHT AT E |

YT [ IA ©, AP P I ST |
HYF AT e, AP T HYT I g © |
(1) 1

2 2

(3) 3

(4) 4

L

.

1[Option ID=16457]
2[Option ID=16458]
3[Option ID=16459]
4[Option ID=16460]

Sl. No.116
QBID:7201016

Every society, because of communication, reflects a sense of to most extent.

1. Commonality
2. Doubt
3. Indifference
4. Animus

(1) 1

(2) 2

3) 3

(4) 4

TP JHTS JHYUT I PR 950 68 aF Pt UTTT BT N BT s |

SIEIE|
B
qeRydl

fagw

O O R

(1) 1
(2) 2
(3) 3
4) 4




1[Option ID=16461]
2[Option ID=16462]
3[Option ID=16463]
4[Option ID=16464]

Sl. No.117
QBID:7201017

On the negative side, communicative language is used to :

A. Extend democratic debates
B. Suppress truth

C. Divide the society

D. Permeate ethnocentrism

E. Support global peace efforts

Choose the correct answer from the options given below :

A. B, C Only
.B. C.D Only
.C.D,E Only
.A.C.E Only
1) 1
(2) 2
3) 3
(4) 4

THRIAD U& B &1 B3 al IUYUig 79T BT g a1 o &:

A. Tiddil® arg-[darg & g¢H & feu
B. 9 &1 &4 - & U

C. JOTS Bl dicd & fau

D. USllid-p-s1adl &1 YR $3- & g

E. afye ifq wardl & 9= & ol
A3 o e e 1 @ 98 SRR

[

e L2

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]
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Given below are two statements

Statement I : Communication, culture and power are inter-related.

Statement II : Socio-cultural values when communicated do not have any weightage of power.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
1) 1
) 2
3) 3
(4) 4

e L b2




A AR E:

BT 1 - T, Tpha IR WfE or: Wafdd et 21

U 11 : FUTUT & UHTT G- ARG Hed! § Ufed BT Pl doi el <6 ol o
JWRId HYH & @S H, 1 G U faedl T 9 9E1 SR &1 994 Sifort:

L PEINR IS 9d® |
2. FYA AR I SH] ST E |
3. PYTIIA S, AT PYT I AR |
4. T ITTE, AT PUT I TA T |
(1) 1
) 2
(3) 3
(4) 4

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.119
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Modern communication technology has converted words into

A. Atool of equality

B. Time

C. A tool of unwarranted peace
D. Money

E. Power

Choose the correct answer from the options given below :

1.A.B, C Only
2.B.C.D Only
.C. D, E Only
.B. D, E Only
1) 1
2) 2
3) 3
4) 4

3y TR Aot = weal o uRkafdd o fRare:

A FHATCI S greH & &0 o
B.99g H

C. 3Uigd wifd &1 gfag & 9 d
D.YIHETH

EYfGdd o H

9 fU 71U faedl § ¥ TEl 3R &1 99 B

1.PAA A, B, C
2.$dd B, C, D
3. %90 C,D,E
4.$9d B, D, E

11

(2) 2

(3) 3

(4) 4

s

1[Option ID=16473]
2[Option ID=16474]
3[Option ID=16475]
4[Option ID=16476]
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Given below are two statements :
Statement I : The semantic code in communication deals with character and characterisation.

Statement II : Roland Barthes describes thiz code as the voice of the person.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement I are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement IT is true.
1) 1
(2) 2
3) 3
(4) 4

P Ry E:

FYA 1 AUV H 3ieidd o1 Fe U R foFur ¥ dafed g gl

DY 11 - el 91 A S e B Afa B ATaTe DI 02 8

SRS DY & el H, =i f3U MU faepedl & I Fel SR &1 999 DI

FFTARI G I |

PYT AR I EH TR |

PYT I B, AP PUT I 3T B |
FYT T e, AP HYT I 9T ¢ |
(1) 1

2) 2

3) 3

(4) 4

b =

S R

b =

= L

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.121
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A shopkeeper purchases a packet of 60 pens at Rs. 10 per pen. He sells a part of the packet at a profit of 40%.
On the remaining part, he bears a loss of 20%. If his overall profit on the whole packet is 20% of , find the
number of pens he sold at profit.

B
ba Lo
h O O O

LF¥)

1) 1
(2) 2
(3) 3
(4) 4

TS PHMAER 10 TUY Hid HAH DI &3 U 60 HAH & U Udbc ] GeIadl g | 98 Udhe & U U D 40%
& TTH TR ST & | A HFTUR ¥ 20% D1 61 61l & | Afe S8 wrguf Gabe R el oY 20% 81l &, a8
HEH B! a8 TG J1d DITOIT ol 39 aTH W aaT 8l

40
30
20
35

Porre

FE ]

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=16481]
2[Option ID=16482]

3[Option ID=16483]
4[Option ID=16484]

Sl. No.122
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A batsman scored 98 runs in his 17th match . As a result his average runs per match increased by 2.5. What

was his average before playing 171 mateh ?

b =
o e
= o0 O L
h Lh LhoLa

e L
[=

(1) 1
(2) 2
3) 3
4) 4

% geaard (e AT 173 T4 H 08 37 99711 8 | S99 RO T30 39 Ufaag sid T H 2.5
T 1 9fG 81 9l o | df 1731 09 Wa- & Ugd SUDT 34 (ol Ul

1. 55:5
2.60.5
3.585
4. 61.5

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=16485]
2[Option ID=16486]
3[Option ID=16487]
4[Option ID=16488]

Sl. No.123
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Water level of a river increases and decreases by 10% on alternate days in the rainy season. What shall be the
increase or decrease in the water level at the end of second day, as compared to the initial water level ?

%2 of increase
1% decrease
. 1.5% increase
1.5% decrease

R

1) 1
(2) 2
(3) 3
4) 4

U] & THY TS 4] & oawa) 8 U@ 137 10% 1 giG oidl g Ud GaR 1o 10% Bi B! gl ¢ | SRS
SRR D1 I H G837 3 ofd ¥ ofe | oo wiawra 1 gfs sryar oot g1 st

O R

3

= 1.5%
1) 1

(2) 2

3) 3

(4) 4
1[Option ID=16489]
2[Option ID=16490]

3[Option ID=16491]
4[Option ID=16492]

Sl. No.124
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There are two numbers such that the sum of twice the first number and thrice the 22¢ number is 39. Also the
sum of thrice the first number and twice the 2nd number is 36. The largest of the two numbers is ?

24
15

Fhh e

1) 1
(2) 2
(3) 3
(4) 4




1 TETU 39 UBR 41 7 B o vuH G & S R IR HwA1 o faT 1 A 30 § quT ggel de
& T 3IR g T & a1 &1 A1 36 3| 31 Snsli 1 3 g1 = o H-H1 82

4
15

L

e L

2:l5

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16493]
2[Option ID=16494]

3[Option ID=16495]
4[Option ID=16496]

Sl. No.125
QBID:7201025

If SEARCH is coded as 214673 and CHART is coded as 73465, then what will be the code for TEACHER ?

. 5147316
.5174136
. 5143716
. 5413716
1)1
(2) 2
3) 3
(4) 4

Ti& SEARCH &1 214673 & ¥9 1§ Geas 81 71 § SR CHART B 73465 & U H $eaG (BT T & |
9 TEACHER &I [ g ¥ edg fhar sem?

L

1. 5147316
2.5174136
. 5143716
. 5413716
1)1
(2) 2
3) 3
(4) 4

L

1[Option ID=16497]
2[Option ID=16498]
3[Option ID=16499]
4[Option ID=16500]

Sl. No.126
QBID:7201026

"Today on average we can look forward to a longer life span than the generation betfore us. It is obvious that it
has been possible only and only because of the millions of dedicated doctors who have ensured our good
health". Identify the fallacy committee in the above argument from the following options ?

. Hasty Generation

. False Cause

. Slippery slope

Appeal to unqualified authority

il S

1) 1
(2) 2
(3) 3
4) 4

ATHIRIG: 3Tl §H U= qd Uig! B SU&T el siia--3/alel & U< &R Jdd § | 98 ¥ ¢ (& Uhl had
oa! gHUd SRl P HRUIUYd 531 5 | a1+ AR 3 g & g1 a1 ¢ | ST ad o
FofafEd fawed § 9@ aiY &t ygaH Hifog|

1. ffa=TRd FH=HI
2. frgreun
3. Ty aTgad Uqurdl
4. 3G YIYDR SHRE
1) 1
(2) 2
3) 3




(4) 4

1[Option ID=16501]
2[Option ID=16502]
3[Option ID=16503]
4[Option ID=16504]

Sl. No.127
QBID:7201027

If the statement 'All ericketers are rich persons’ is given as true which of the following statements can be
inferred to be false ?

A. No cricketers are rich persons.

B. Some cricketers are rich persons.

C. Some cricketers are not rich persons.
D. Some rich persons are cricketers.

Choose the correct answer from the options given below :

.B and C Only
.Aand C Only
.B and D Only

. A, B and C Only
1) 1

(2) 2

(3) 3

(4) 4

gﬁam:r'?ﬁWﬁwﬁ%l"ﬁ%ﬁﬁmﬁﬁﬁﬁmmmw AT foar o S@ar
|

A. BIg Tbapex o1 ofaa g1 5
B. $% fhavex wil aafdd 5|
. 79 fpder uft oafda 7T €1
D. T8 4l o e 1

=i fou U [ddedl § 9 Fgl IR &1 984 DIfog:

1.HaAB IR C
2. FadAdRC
3.%adB ARD
4. HAAA, B IR C

(1 1

2 2

@) 3

(4) 4

s L b2

1[Option ID=16505]
2[Option ID=16506]
3[Option ID=16507]
4[Option ID=16508]

Sl. No.128
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Which of the following propositions are so related that they cannot both be true, although they both may be
false ?

A. All football players are rich persons.

B. No football players are rich persons.

C. Some football players are rich persons.

D. Some football players are not rich persons.

Choose the correct answer from the options given below :

.Aand B Only
.Aand D Only
.Cand D Only
.B and C Only
(1) 1
(2) 2
3) 3
(4) 4

R




Wﬁﬁ.@mwwﬁ%@%?%ﬁHﬁﬁﬁmﬁH%Iﬁéé‘l:ﬁ'ﬂaﬁﬁ
!

A 9l Geam Raars! o= afdd g

B. ®I5 Peald faars! i oifad 7ol &

C. T© Pea [aars! o A g |

D. $© Ppeald [Ears! 4= e el |

e fou U fadedl § U Tl IR &1 904 B

1. Had A 3R B
2. Had A AR D
3. HIAC ARD
4. FaABIARC

1) 1

@) 2

3) 3

4) 4

1[Option ID=16509]
2[Option ID=16510]
3[Option ID=16511]
4[Option ID=16512]

Sl. No.129
QBID:7201029

Which of the following propositions are logically equivalent ?

A. No dogs are aggressive animals.

B. No aggressive animals are dogs.

C. All dogs are non-aggressive.

D. Some dogs are not aggressive animals.

Choose the correct answer from the options given below :

. Cand D Only
.Aand D Only
A, B and C Only
.B and D Only
1) 1

(2) 2

(3) 3

(4) 4

frafafed & $H-5 wfosiat afés w9 3 wgea 8

A T 0 $1 3PS AR T o
B. B3 1} 3MhTH® SFdR Pl 7l ¢
c. i gt R-3mp®

D. @ Tl ATHIHS S6R Aol o |

i fu 7Tt f[ded § & 9l 3R &1 99 Bifee:

1. Had c 3RD
2. %Had A R D
3. PAAA. B IR C
4. PTAB AR D

1 1

) 2

@) 3

4) 4

= =

RO FE)

1[Option ID=16513]
2[Option ID=16514]
3[Option ID=16515]
4[Option ID=16516]

Sl. No.130
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Given below are two Statements :

Statement I :According to classical Indian school of Logic, namely Nyaya, we ascertain the relation of
universal concomitance between x and y by perceiving that in all cases the presence of x is accompanied by
presence of v, and not perceiving any instances to the contrary.

Statement II : Classical Indian materialists argue that universal relation between two events cannot be
established, there being always a room for doubt about the unobserved cases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both statement I and Statement IT are false.
3. Statement is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1 1

(2) 2

3) 3

4) 4

< & Py Ry E

FYA 1 : MR YR ThIRd 1 Hd D SR 69 x 3R y & &9 GraHg Fgatddd! Hidd $Rd §
Siet Tt warull | x @ Sufufa & Ty y @1 Sufufd il B, 3R 59 fauid &1s Tyid T8l 81

PY 11 : ARG HRAT Hifcwpard ad 2d & o el & ulmenel & o= ardifte dey wnfid =2t
fepaT o Toal & aaifes miféd fowal & 9R § 9dd og ol SuETeial gl

IRIFd FYF & AaF J A e T fowegl § 9 U8 S| o1 g i

1L PYTINR IS IAE |

2. FYFI AR I SH STIE |

FYT 1A G, AT HYT I IS |
P AT, AT FUT I TR |
1) 1

(2) 2

(3) 3

(4) 4

FER P

1[Option ID=16517]
2[Option ID=16518]
3[Option ID=16519]
4[Option ID=16520]

Sl. No.131
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Which of the following applications A-C are built on top of open-source digital platforms ?

A. Aadhar
B. Adobe Reader
C. COWIN

Choose the correct answer from the options given below :

A Band C
.Aand B Only
.B and C Only
.Aand C Only
(1) 1

2) 2

3) 3

(4) 4

B B R




frafaiaa SAyENT A-c T 9 $H-5H 3 Gaa 9id ey Wewd R i P g

ALHTER

B.USIE {da%
C. Hifdq

=i fou U fadedl § 9 TEl IR &1 984 DIfog:

1.LA.B3RC
2. Had AR B
3. %aaB AR C
4. FATAARC
1) 1
) 2
(3) 3
(4) 4
1[Option ID=16521]
2[Option ID=16522]

3[Option ID=16523]
4[Option ID=16524]

Sl. No.132
QBID:7201032

Given below are two statements :
Statement I : IBM was the most valuable worldwide IT brand in 2022.

Statement IT : TCS and Infosys were the second and the third most valuable Indian brands respectively in the
IT services sector globally in 2022.

In the light of the above statements, choose the correct answer from the options given below ;

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II is false

3. Statement I is true but Statement I 1s false
4. Statement I false but Statement II is true

1) 1
(2) 2
(3) 3
4) 4

BIECIEICAC TR :
PUA : SMMZaIeH Iy 2022 H 3y 1R O walle gegor sngel siis At

FUA I : TN 2022 F Sge] Aarsl & &7 H 9y I RATY SR ShIR H=E: g 3R 4R walite
TegaH 3l YR §1S o

SRIFd FYA &A@l . A1 [SU U [dFedi 4 I 9gl ST &l 9949 I

1LPYTIAR IS IaE |
2. PYFI IR I EH TR |
3. PYTI TS, AP HUT I ITT B |
4. P HTTE, AT P I TR |
11
2) 2
(3) 3
4) 4
1[Option ID=16525]
2[Option ID=16526]

3[Option ID=16527]
4[Option ID=16528]

Sl. No.133
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Which of the following statements (A-C) are correct with reference to "Software as a Service (SaaS)" in cloud
computing ?

A. SaaS users can access their data from any Internet-Connected computer on mobile device.

B. A web-based email service such as Outlook. Hotmail or Yahoo! Mail is a form of SaaS.

C. SaaS buyers can customize the user interface to change the look and feel of the software, as well as
modify specific areas, such as a data fields.

Choose the correct answer from the options given below :

Aand B Only
.Aand C Only
. B and C Only
A, Band C
1) 1

(2) 2

(3) 3

(4) 4

FA3S BT & WIRedaR U U Aiad (AR) & dg3 § Fafafad oy=i 8 9 $H.6H 4 &Y 981 82

A. TN W Se3-e 9 93 (oot Hl R siual Hielkd USRI Y 30 S21 P Ugd 9od o

B. 313Cd®, glcHd 3Udl A1 Hd oikil a9 SYIRd sHd 4l 9 $H1 U& E9 g |

C. T Sl S dR &1 FY AR YT aRakid e 3R Se1 &3t o faf¥y &3 & Saiad o
& o el SIaR1gE S 30T SRS ATER &1 9% d 6|

9 fU 71U faedl § ¥ TEl 3R &1 99 Bl

1.Hdd A IR B
2. PaAAARC
3. %aaB AR C
4 A B3RC

1)1
(2) 2
(3) 3
(4) 4

b

1[Option ID=16529]
2[Option ID=16530]
3[Option ID=16531]
4[Option ID=16532]

Sl. No.134
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Which of the following communication technologies A-C are considered as short-range devices/technologies ?

A CCTV
B.RFID
C. WLAN

Choose the correct answer from the options given below :

. A and B Only
.Aand C Only
.B and C Only
A, Band C
1) 1

) 2

(3) 3

(4) 4

B B A




5 S denfafear A-c 3 9 g T XS SuaRu RS 5 o g2

A O
B. IRUG3Tg !
C. SEGTATE

=i fou U fadedl § 9 TEl IR &1 984 DIfog:

1. Had A IR B
2. HIAAIARC
. FadAB AR C
4.A.B3RC
(1 1
) 2
() 3
4) 4

Lk

1[Option ID=16533]
2[Option ID=16534]
3[Option ID=16535]
4[Option ID=16536]

SlI. No.135
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In India, the term "Public Key Infrastructure” is used in the context of

1. Digital security infrastructure
2. Food security infrastructure
3. Health care and education infrastructure
4, Telecommunication and transportation infrastructure
1) 1
(2) 2
3) 3
(4) 4

YR § Wdul-1 HgwaqUl aaaqT (Ufeddd 31 g3pRedaR) Hafiiaa & fvas deu & wanT faar s

. ST GI&TT SHTEE]

. Te] YR&T A

. XGTRI CEHTE g TRI&HT S{GERET
. &R IR 3R URGET S8
(1) 1

) 2

3) 3

4) 4

e O R

1[Option ID=16537]
2[Option ID=16538]
3[Option ID=16539]
4[Option ID=16540]

Sl. No.136
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What is the correct sequence of steps in Risk assessment related to environmental hazards 7

A, Risk characterization
B. Exposure assessment
C. Hazard Identification
D. Risk Management

Choose the correct answer from the options given below :
.C,B,A,D

1
2.6
3.A,
4.B,

00
o Rws Qws)

B 1
.B.D
DA
(1) 1
(2) 2
(3) 3
(4) 4




JiaRuY Gkl § Seidd Siien geaiee o FEfiiad seHl &1 91 S HH 1 32

A SIRgH ARiEHur
B. 3GHTEA Hedio
C. G| D UgdH
D. SIRgH wae=

i fu 7Tt f[ded § & 9l 3R &1 99 Bifee:

1.C,B,A,D
2. AB. 1
JLALC.B.D
4.B.C.D,A

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=16541]

2[Option ID=16542]

3[Option ID=16543]
4[Option ID=16544]

Sl. No.137
QBID:7201037

National Solar Mission, one of the missions of National Action Plan on Climate Change (NAPCC) was
launched in the year

2009
2010
3.2011
2012

el

o

(1) 1
(2) 2
3) 3
(4) 4

Sy uRac- et eTg e e @) & iR 8 3 e I IR irm el Fe A g fea ay
SRY [T 47 U1

2009
2010
. 2011
2012

[

S Y}

(1) 1
) 2
3) 3
4) 4
1[Option ID=16545]
2[Option ID=16546]

3[Option ID=16547]
4[Option ID=16548]

Sl. No.138
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Which one of the following has contributed maximum in sea level rise so far in the context of climate change ?

. Melting of Antarctic Ice-sheets

. Melting of Glaciers
3. Thermal expansion of oceanic waters
4. Melting of Greenland Ice sheets

1) 1

(2) 2

3) 3

(4) 4

|




gﬂﬂ@%ﬁﬂ%@ﬁﬁagg TR D FWR I H 3l dob (afaiad & U [t er sifdesdd 61

1. &f&0r ydia fed =reR o1 fuger
&0 @usi o1 fugaAn

. HETIFRIY od &1 drdid WR
4, YICIUS 1 fgd =rexi &1 e

(1) 1
(2) 2
(3) 3
(4) 4

i bk

1[Option ID=16549]
2[Option ID=16550]
3[Option ID=16551]
4[Option ID=16552]

Sl. No.139
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Out of different oxides of nitrogen which of the following are considered as Air Pollutants and known as NOx
3

A.NO (Nitric Oxide)

B. NO, (Nitrogen dioxide)
C. NO; (Nitrogen trioxide)
D. N,O (Nitrous oxide)

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Only
3. Cand D Only
4. A.B and D Only
1) 1
(2) 2
3) 3
(4) 4

Arsgio o fafts snemrsst # ¥ 3 # 9 foree arg Ig e W1 911 § 3R NO, & ¥ H W1 Wl 3

A.NO (TEIEP HHZS)
B. NO, (IECISH ST5 HTHRIES)

C. NO; (TTSgIoM gTs STaTSS)
D. N,0 (TE¢H HHSS)

T fou U [ddedl # U Tl Ik &1 994 BT

1. Pad A IR B
2. PaAB AR C
3. Had C ARD
4. PTAA, B AR D

1 1

) 2

@) 3

4) 4

1[Option ID=16553]
2[Option ID=16554]
3[Option ID=16555]
4[Option ID=16556]

Sl. No.140
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The advantages of biodiesel over conventional petro diesel are :

A. Biodiesel produces significantly lesser CO, and SO,.

B. It is non-renewable

C. It has higher octane number

D. It can be used in any ratio with petro-diesel
E. It has lower flash point.

Choose the most appropriate answer from the options given below :

. A, B and C Only
.B. Cand D Only
A, Cand D Only
.C.D and E Only
1) 1
(2) 2
3) 3
(4) 4

URARS UgISiord o1 SUefl oia-Siord & -4 5 J a1 a4 57

A SI9-SIed BB HH €O, IR SO, 3T Bl ¢ |

B. U8 TR a0y g1

C. DT e ST JER 2

D. 53 Ut Storar & Yy fopadt off sryara & v forar o wpar 3
E. SU®] (Y Saa1® (HIS WEe) B

4 feu T fawedl § ¥ 9ad SUga SR 31 90 HIoTE:

1.HadA, B3R C
2.%9aB,C ARD
3. %A A, C IR D
4.PdaC,DIRE

1) 1

) 2

3) 3

4) 4

R

1[Option ID=16557]
2[Option ID=16558]
3[Option ID=16559]
4[Option ID=16560]

Sl. No.141
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Which of the following names of technology platforms has been mentioned in NEP-2020 through which
online training of teachers will be encouraged ?

A SWAYAM
B. AYUSH
C.PARAKH
D. DIKSHA
E.NIT

Choose the correct answer from the options given below :

.B and C Only
.Aand D Only
.A, Cand D Only
. A, B and E Only
1) 1

(2) 2

3) 3

4) 4

B N




T3 faren Hifa § fofalad o19-3 uenifies 591 & 715 &1 S [ 1 g fome arerg 3 Ryl &
3{aITS UIRT&0T 1 Wik fopar SITu

A &g

B. 31Y
C. |G

D. dl&fr

E. U3l

=t fou U fasedl § 9§ 9l IR &1 984 Siforg:

1.HaAB IR C
2. %Had A dRD
3. %A A, C AR D
4. HdATA,BIRE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16561]
2[Option ID=16562]

3[Option ID=16563]
4[Option ID=16564]

Sl. No.142
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In 1904, Curzon was the moving force behind the enactment of the Indian University Act which intended to
introduce radical changes into which of the following universities :

A. Calcutta

B. Bombay

C. Madras

D. Punjab (in Lahore)
E. Allahabad

Choose the most appropriate answer from the options given below :

. A, B and C Only
.C.D and E Only
.A,C,DandE Only
A.B.C.Dand E

(1) 1
(2) 2
(3) 3
(4) 4

9 1004 & YR fGyfoemey sfifaan & sififana & fom oRomrerd o= o1 fome Seea fAarfefad
o1 fasyfaemeal & sme.-<a uRad=i &1 Tosid ST U1

A. HaAPl
B. 94

C. Hs9

D. UolTd (@6 H)
E. gdlgldlg

i feu e ool 7 9 9ed Sugad IR &1 90 SIS

1.PIAA. B AR C
2. HAAC, D IRE
3. PIAA, C,D ARE
4.A.B.C,D3RE

1 1

) 2

3) 3

4) 4

L

1[Option ID=16565]
2[Option ID=16566]
3[Option ID=16567]
4[Option ID=16568]
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Given below are two statements
Statement I : UGC is a central government organization established by an Act of Parliament in 1956.

Statement II : UGC has established five regional centres in order to ensure proper functioning.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement [ is incorrect but statement IT is correct.
1) 1

(2) 2

(3) 3

4) 4

TR FERTmE

DU - Guir, 1956 H W H A gR1 AT a1 701 U S5 TR W64 6
YA : Juidi! - T e B R S & o0 § Uid a5 S5 &1 wiiud a1 g
SIRIGd DY P 3l H, Hi fEU M0 fawedl 7 I a8 IUgad SRk D1 T4 HIIU:

PYTIAR IS el © |
PYF IR EH T ¢ |
HYT 198l B, AP HUT 1 T ¢ |
P ITAA 8, AT PUT 1 T | |

1)1
(2) 2
(3) 3
(4) 4

e L b2

[

e a

1[Option ID=16569]
2[Option ID=16570]
3[Option ID=16571]
4[Option ID=16572]
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Ministry of Environment and Forests, Govt. of India with the help of centre for Environment Education
(CEE), launched a National Environmental Awareness campaign (NEAC) in 1986 to increase
awareness about the environment in various target groups in the country.

. Chennai

. Ahmedabad
. Delhi

. Hyderabad
1) 1

) 2

3) 3

4) 4

YR IRPR & GAIR0T Ud a4 HATer - gafarul f2ie 3 s (IRe) . Tegar 4 g
fafay Sféra el & Ty ugfavu & aR § Sreadl ¥ gl 8 3 1986 T P TaiaRviig SIiRedbal
AT T (TTSTH) 1 AT B

13995
. SEHSIETS
feeett
BRI

R

LT

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16573]
2[Option ID=16574]




3[Option ID=16575]
4[Option ID=16576]
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Which of the following is an important archaeological site declared by UNESCO as a world Heritage site in
19807

1. Takshshila
2. Mithila

3. Vallabhi
4. Nalanda

1)1
(2) 2
(3) 3
(4) 4

FrafaRad o § oM s Tgayul Ridliae ®id ¢ oae! g%l gRIaY 1080 T 3% eRIgR =id giftd
fepar mar

1. deffran
2. fAferen

3. gearHl

4, A=l

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16577]
2[Option ID=16578]
3[Option ID=16579]
4[Option ID=16580]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to deseribe the change in society marked by the emergence of
the first cities some 5500 years ago. The arcas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

frafafad meiw &1 ufeu 3ik vy &1 3w difSm|

TS A15ES H Wesl Sifd Ug &1 R eTHIT 5500 9N gd WuH 27631 & sifaufd 3 ffga aae & givacdHi
& quiv & ferg febar ot 5 &3 3 Fduym 3 e |rH1ie- 3% gRadT g, d 9 :

« TICIHAT - o SR BRI Aiedl $ arfear
. fE i
. Riy=d & farh &

a1e H YA YR &7 & 3a-F18, 917 31 I 741 91, 3fémnr gd uikmn &R srdie § wed 9w
GHRd 53| 59 UPR Ugd XeXl & §-0a: 34 441 § Sfifauia 531 5 31l Tasig ! A1 ordl 6|

gaTH! ufad=l 1 59 3afY & T IERP TurTor Siefi= ghifd o S T4 8,000 3. Y, § | TS 4 g3
e U311 & UTE &Y O SR Qe S UR YR RIFgiS SN R a9 grme sl ol
w5 f3aT FY & wifd & a1y Rars vfaftal Geid g3 1 59 918 o vgE Wifd 4 9ai 9
i1 & aTe g, ufguarct ST, T et 3R UTg-fag | qUI ST 4,000 3.9, 53 OG- &1
SHfTSPR Tvaaal Hailde Heayul AR Ul File 34l & a1 &I Tedlsg] § goral 3R BId Aiedl &
a‘%a%a%ﬁiﬁgﬁaaﬁ@nﬁa? PR T giG g3 SR Fbrd o URac g fore dRo Iex |
arffezor !

TYH Ve & PIB1 a1e T s1aRe - [3eid 817 3Ry gU1 fadiy Yedrsd! £.9, & UuHls & aRA
ic T Tad MRS 9l & H- 3R BN %ise[aﬁﬁuqlﬂ@w‘m@[&%tﬂl U4 ! qa-1 8 ®al
s UHM W el 3R IR Yuriad! & faeT™ &1 STl aRt g 3R I8 anl & i

Based on the information given in the passage, arrange the following events in correct chronological order.

A. Emergence of the first cities

B. Neolithic Revelution

C. Invention of writing

D. The Minoan civilisation cities which flourished in Crete

Choose the correct answer from the options given below :




TR H Uad Y1 & YR R F9 9134 & 951 SIeshHTaR oHaieyd Biuu:
A T 63 1 affquia

B. TgUTHI0[ ST Bild
C. TG BT AP
D. $ic & gHAd [T 91l & e

= feu U fadedl § Hel ST &1 997 SIT:

1.LA.B.C.D
2.B.C.D. A

-
=0
nw
U o

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16581]
2[Option ID=16582]

3[Option ID=16583]
4[Option ID=16584]
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Read the following passage and answer the question.

Gordon Childe used the term urban reveolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
» The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE. derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

frafaiad meriw &1 ufeu 3ik wy @1 3w difSm|

TS A15es A X6 i UG BT TaIT LI 5500 T4 Ud WYH X611 & Siauia ¥ fafed warms & ofkad—i
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The term LICs in the passage most likely represents

1. Lower Indo-China
2. Later Indus and China
3. Low Income Countries
4. Laos India and China
1) 1
(2) 2
3) 3
4) 4

TR § Ygad U TasTsd! &1 Fe J 9 watite dyaaan e vailid $xdl g 2

1. TSR 1T

R TS S A1
T3 SISA1 TS ArsA1
1) 1

(2) 2

3) 3

4) 4

NE FYR S5

1[Option ID=16585]
2[Option ID=16586]
3[Option ID=16587]
4[Option ID=16588]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to deseribe the change in society marked by the emergence of
the first cities some 5500 years ago. The arcas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
* The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

frafafad meiw &1 ufeu 3ik vy &1 3w difSm|
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Which major development led to the transformation of villages in the plains between Euphrates and Tigris,
into urban centres ?

1. The Emergence of wheeled cart
2. Neolithie Revolution
3. Metallurgy
4. Invention of Writing
1)1
) 2
(3) 3
(4) 4

FafaRad 4 9 9 ugE uRuce] & 9dd BRId SR ol & did & da1 &3 & T1idl B el Bl 4
F IR0 g1

1. UfgUeR Mel %1 anfqufa
2. YTy d?l(ﬂnlr! hild
3. UTg-fasm
4. TG P71 ATMTHR
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=16589]
2[Option ID=16590]
3[Option ID=16591]
4[Option ID=16592]
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Read the following passage and answer the question.

Gordon Childe used the term urban revolution to deseribe the change in society marked by the emergence of
the first cities some 3500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
+ The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emereged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE. for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
inereased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Arrange the following places where urban centres developed. in correct chronological order.

A Greece

B. Crete

C. Rome

D. The plains of river Indus

Choose the correct answer from the options given below ;




T i &1 w5l wed F Refid 5u, I8! STamHIuR wafed ST

A TAH
B.®lc

C.3H
D. Ry 7 & Aari &=

9 fU MU famedl § | HEl SR o1 90 DI

1.D,B,A.C
2.D.C.B.A
JADBEBC
4 A.D.C.B

1)1

(2) 2

3) 3

(4) 4

1[Option ID=16593]
2[Option ID=16594]
3[Option ID=16595]
4[Option ID=16596]

Sl. No.150
QBID:7201050
Read the following passage and answer the question.

Gordon Childe used the term urban reveolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
» The lower Nile valley.
+ The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean, in the Yellow River valley of China, in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced, irrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop, The Minoan civilisation cities of
Knossos and Phaistos, which flourished in Crete during the first half of the second millennium BCE. derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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TS IS J e Hifd & BT UGR TH 5500 98 94 T 63 & sfauia § fafed v & ufkadHt
& quiH & fore fasa w1l oM & & [duym 3 e JrEioie-3iie gikad— gu, d o -

- DT - 57 IR BRId gl #1 e
. e e
. by di & far 83

gTe H YA GRRIY 87 & 5a-114, 917 31 dal 1al °rct, gféor gd Uik sk smdier | el 9wy
ooy g3 | 59 PR Ug el Tel 1 e d: 31 &1 1 fifqula gail fore orel Tarsgel o1 & €1

ST URacHI 1 59 31af¥ & [y SR FGUTNIv St hifd Ui ol @+ 8,000 3. Y, §% | U dd gofl
e 93T & TAq 1Y o SR el SN R SR RIFgls S R 1fd 3 armest sigsie o
wiaRITTad S 311 Y § il & ary R ufaftal Geiid g3 1 59 918 o= vgE wifd A §ai 9
i1 o aTe g, ufguarct TSt I Fee iR eTg-fag | qUTY ST 4,000 3.9, 5o OG- @
HfEHR Hyaaal Faiue Tea@yul SaspR U1 R gdl & a1 &I TedTea! § qoral SR Pid Aledl &
ﬁa%a@%ﬁ;ﬁ%ﬁﬁ@ﬁ%Wﬁq@ﬁsﬂ?mﬁuﬁqéﬁgmmﬂm BIRUI T 1
GG I

T Y61 & BI%I 818 & TR o5 [aded o SRY gU1 [l IgaTsd] 3.9, & JuUHTE & aRIH
Ic T qad TS W & o1 SR e W6 B §uel §isi IR 9 315 of| 78 &1 qer & del
TS UHH IR e SR IS wuierd! 3 [ o1 SiTell aR AT SR 0 a0 &t o




Given below are two statements :
Statement I : Urban centres in China developed before they developed in the plains of Indus river.

Statement IT : Trading centres developed much later than the first cities.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement IT are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=16597]
2[Option ID=16598]
3[Option ID=16599]
4[Option ID=16600]




